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Table-1 below shows the state-wise foreign investments (in € crore) in the year 2022 and Table-2 shows the percentage
(%) distribution of investments in different sectors for each state. Based on the data in the tables, answer the
questions that follow.

Table-1: State-wise Details of Foreign Investment

State Foreign Investment (in  Crore)
Rajasthan 3120
\adhya Pradesh (MF) 3560
Gujarat 3940
Tamil Nadu (TN) 1360
Andhra Pradesh (AP) 1460
Delhi 1660
Haryana 3830

Table-2: Sector-wise Distribution of invesment for each state

Percentage (%) Distribution of Investment for each state in

Defence Telecom Insurance Pharmaceuticals Construction Others
25.6% 13.5% 18.5% 8.5% 14.4% 19.5%

Sub questions

Question Number : 1 Question Id : 22742719175 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What is the total foreign investment (in < crore) in 'Others' sector in all the seven states together?

1.3297

2. 3505

3. 3705

43905
Options :
22742774701. 1

22742774702. 2



22742774703. 3
22742774704. 4

Question Number : 2 Question Id : 22742719176 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

The foreign investment in Insurance sector in Rajasthan is approximately % of the foreign investment in
Construction sector in Haryana

Options :

22742774705. 1
22742774706. 2
22742774707. 3

22742774708. 4

Question Number : 3 Question Id : 22742719177 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
The foreign investment in Pharmaceutical sector in AP 1s approximately % less than the foreign investment in

Telecom sector in Delhi.

1478

2446

3496

4458

Options :
22742774709. 1
22742774710. 2



22742774711.3

22742774712. 4

Question Number : 4 Question Id : 22742719178 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

For which of the following pair of states, the ratio of foreign investment in Defence sector is 52 : 237

1. Rajasthan, TN

2 Haryana, TN

3. MP, AP

4 MP, TN
Options :
22742774713. 1
22742774714. 2
22742774715. 3

22742774716. 4

Question Number : 5 Question Id : 22742719179 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What is the difference (in ¥ crore) between the foreign investment in Defence sector in Gujarat and in Construction and
Insurance sectors together in MP?
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Options :

22742774717. 1
22742774718. 2
22742774719. 3



22742774720. 4

Question Id : 22742719174 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 22742719175 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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2. 3505

33105

4 3905
Options :
22742774701. 1
22742774702. 2
22742774703. 3

22742774704. 4

Question Number : 2 Question Id : 22742719176 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742774705. 1
22742774706. 2
22742774707. 3

22742774708. 4

Question Number : 3 Question Id : 22742719177 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742774709. 1
22742774710. 2
22742774711.3

22742774712. 4

Question Number : 4 Question Id : 22742719178 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742774713 1
22742774714. 2
22742774715. 3

22742774716. 4

Question Number : 5 Question Id : 22742719179 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742774717. 1
22742774718. 2
22742774719. 3

22742774720. 4

Sub-Section Number : 2
Sub-Section Id : 227427752
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 6 Question Id : 22742719180 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a benefit of Mind Mapping?

1. Improving memory retention

2. Enhancing creativity and problem solving skills
3. Reducing stress and anxiety

4 Making information more difficult to comprehend

Options :

22742774721. 1
22742774722, 2
22742774723. 3

22742774724. 4

Question Number : 6 Question Id : 22742719180 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

227427747211
22742774722. 2
22742774723.3

22742774724. 4

Question Number : 7 Question Id : 22742719181 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are not the characteristics of Adolescent learners?
A They have uniformity in their physical development.

B They have stable self-concepts.

C. They often experience mood swings and emotional turmoil.

D. They have high hopes and aspirations for their future.

E_They have increased peer group pressure.

Choose the correct answer from the options given below:

1.A C, DandE only
2. Cand D only

3. B, CandE only

4 Aand B only

Options :



22742774725.1
22742774726. 2
22742774727.3

22742774728. 4

Question Number : 7 Question Id : 22742719181 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

fmiR sifmeatel & siftymen Faffad 2 3 o 3 961 22

(A). 378 I IRIRS fadbry & thEuar urdl Ardi g
(B). 378 RRR 3TeH-FbeT T8It 1
(C). 3 UT: T:Rufy # Sie T Wi faihy @ SHd md

(D). 3799 399 Hfa™ & Ufd I=9 U= Ud ST gl 51

(E). 399 9cl g3 YD & UHg cald oidl o

T G fadedl § ¥ 98l S A -

(A). (C). (D) 3R (E)
@dd (C) &?R{Dn

(B), (C) ) 31X (E)

{

W
W
add A) 3R (B)

4
Options :

22742774725. 1
22742774726. 2
22742774727. 3
22742774728. 4

Question Number : 8 Question Id : 22742719182 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the National coordinators for the production of best quality content in SWAYAM?
(A). NCTE

(B). AICTE

(C). IGNOU

(D). UGC

(E). CEC

Choose the correct answer from the options given below

Options :

22742774729. 1
22742774730. 2
22742774731.3
22742774732. 4

Question Number : 8 Question Id : 22742719182 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742774729. 1
22742774730. 2
22742774731.3
22742774732. 4

Question Number : 9 Question Id : 22742719183 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is not the objective of teaching?

1. To help students to become better thinkers

2. To facilitate the development of problem solving ability among students

3. To follow a rigid teaching plan

4 To help learner, adjust his perceptions to reality, attaining harmony between internal and external experiences

Options:
227427747331
22742774734. 2

22742774735. 3



22742774736. 4

Question Number : 9 Question Id : 22742719183 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742774733. 1
22742774734, 2
22742774735, 3

22742774736. 4

Question Number : 10 Question Id : 22742719184 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1): Edpuzzle is a tool used for mind mapping in education.

Statement (I1): Mindmeister is a tool used for creating interactive videos in education.

In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement (I) and Statement (Il) are true.
2. Both Statement (1) and Statement (11) are false.
3. Statement (1) 1s true but Statement (I1) s false.
4 Statement (1) is false but Statement (1) is true.

Options :

22742774737.1



22742774738. 2
22742774739. 3
22742774740. 4

Question Number : 10 Question Id : 22742719184 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742774737. 1

22742774738. 2

22742774739. 3

22742774740. 4

Question Number : 11 Question Id : 22742719185 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ldentify the characteristics of open ended questions in survery research:
A The questions suggest certain kinds of answer to the respondents.

B. They are useful for exploring new areas.

C. They are time consuming for interviewers to administer.

Choose the correct answer from the options given below:

1. (A) and (B) only.
2. (B) and (C) only.
3. (A) and (C) only
4 (A), (B) and (C)
Options :
22742774741.1
22742774742. 2
22742774743. 3

22742774744. 4

Question Number : 11 Question Id : 22742719185 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742774741.1



22742774742. 2
22742774743. 3

22742774744. 4

Question Number : 12 Question Id : 22742719186 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (I): In a reference written in APA style, the first name of an author is written first

Statement (1) In a reference written in APA style, the year of the publication is written after the page number.
In light of the above statements choose the most appropriate answer from the options given below

1. Both Statement (1) and Statement (Il) are true.
2. Both Statement (1) and Statement (Il) are false.
J. Statement (1) is true but Statement (1) is false.
4 Statement (1) Is false but Statement (1) is true.

Options:

22742774745. 1
22742774746. 2
22742774747. 3

22742774748. 4

Question Number : 12 Question Id : 22742719186 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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227427747451
22742774746. 2
22742774747. 3

22742774748. 4

Question Number : 13 Question Id : 22742719187 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List-l with List-ll

List-l (Types of Research /

study) List-Il (Description)

(A). Basic Research (I). Invesgations meant o discover whether variables covary

). Corelaonal Research (If). An indepth study of & single or a few individuals to see how changes affect the person's

behaviour
(C). Case study (I11). Agroup of participants is observed and measured over time
(D). Longitudinal study (IV). A study / research that tests or expands on theory

Choose the correct answer from the options given below:

Options :

22742774749. 1
22742774750. 2
22742774751.3
22742774752. 4

Question Number : 13 Question Id : 22742719187 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1.(A) - (I1), (B) - (IV), (C) - (1), (D) - (11}

2. (A)-(IV), (B) - (1), (C) - (1), (D) - (liT)

3. (A) - (1), (B) - (1), (C}- (1), (D) - (IV)

4 (A) - (1D, (B) - (IV), (C) - (1), (D) - (I1)

Options :

22742774749. 1
22742774750. 2
22742774751.3
22742774752. 4

Question Number : 14 Question Id : 22742719188 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which among the following types of varnables can NOT be rank ordered?

1. nominal

2. ordinal

3. Interval

4. ratio
Options:
22742774753. 1

22742774754. 2



22742774755. 3

22742774756. 4

Question Number : 14 Question Id : 22742719188 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742774753. 1
22742774754, 2
22742774755. 3

22742774756. 4

Question Number : 15 Question Id : 22742719189 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
According to UGC regulations 2018 on plagiarism, level 3 plagiarism refers to similarities

1. above 60%

2. below 10%

3. above 10% to 30%
4 above 40% to 60%
Options :
22742774757. 1
22742774758. 2

22742774759. 3



22742774760. 4

Question Number : 15 Question Id : 22742719189 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742774757. 1
22742774758. 2
22742774759. 3

22742774760. 4

Question Number : 16 Question Id : 22742719190 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to the Hindu tradition, the purpose of good communication is to

1. create social groups

2. produce tasteful entertainment

3. make people seek enlightenment
4 offer an insight into materialism

Options :

22742774761. 1
22742774762. 2
22742774763. 3

22742774764. 4



Question Number : 16 Question Id : 22742719190 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742774761. 1
22742774762. 2
22742774763.3
22742774764. 4

Question Number : 17 Question Id : 22742719191 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The maximum amount of information sent over a channel within a specific period of time reflects

1. Communication process
2. Information overload

3. Transmission barriers

4 Channel capacity
Options :
22742774765. 1
22742774766. 2
22742774767. 3

22742774768. 4

Question Number : 17 Question Id : 22742719191 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742774765. 1
22742774766. 2
22742774767. 3

22742774768. 4

Question Number : 18 Question Id : 22742719192 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are true in the case of metacommunication?
(A). It is intentional.

(B). It is not always intentional.

(C). It often takes place spontaneously.

(D). It can modify itself.

(E). It decontextualises itself.

Choose the correct answer from the options given below:

1. (A), (B) and (C) only.
2.(B), (C)and (D) only
3. (C), (D) and (E) only
4 (A), (D) and (E) only.

Options :

22742774769. 1



22742774770. 2
22742774771. 3
22742774772. 4

Question Number : 18 Question Id : 22742719192 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742774769. 1
22742774770. 2
22742774771.3

22742774772. 4

Question Number : 19 Question Id : 22742719193 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

statement |- In the modern day world, language is an effective instrument of communication.
statement II: The Buddhists regard language as an important social practice.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (I) and Statement (Il) are true.
2. Both Statement (1) and Statement (11) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (I1) is true.

Options :

22742774773.1
22742774774. 2
22742774775. 3
22742774776. 4

Question Number : 19 Question Id : 22742719193 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
EIERAGAIC A

HY - | : AYFD Gy T YU YR &1 T THIE! eE 2|

HYT - || : 95 YHiTET Y S UH Jedyul QHled Tl 91 d g
Ul BYHl & eile | FEkiREd [ded § 9 8 3w g -

1. @Y | AR | GHf 9 B

2. &Y | 3R || GH HTF B

3. ®YF | 9 &, T DY Il 3 B
4 YT 30d e, [P PYH I A Bl

Options:
227427747731
22742774774. 2

22742774775. 3



22742774776. 4

Question Number : 20 Question Id : 22742719194 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are fwo statements:
Statement | Communication media are neither neutral nor value free containers that carry information to different places.

Statement [I No Communication technology has its own unique set of physical, technical, symbolic and environmental
characteristics.

In the light of the above statements, choose the correct answer from the options given below

1. Both Statement (1) and Statement () are true.
2. Both Statement (1) and Statement (1) are false.
3. Statement (1) Is true but Statement (1) is false.

4 Statement (1) Is false but Statement (1) s true.

(
(

Options :

22742774777. 1
22742774778. 2
22742774779. 3

22742774780. 4

Question Number : 20 Question Id : 22742719194 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



oo fumE:
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Options :

22742774777. 1
22742774778. 2
22742774779. 3

22742774780. 4

Question Number : 21 Question Id : 22742719195 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Two persons X and Y can do a piece of work in n days. If X alone can complete the work in (n+3) days and Y alone can do the
work in (n+12) days, find the value of n.

1.6

210

3.7

45

Options:
22742774781. 1
22742774782. 2
22742774783.3

22742774784. 4

Question Number : 21 Question Id : 22742719195 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1 kT X 3R Y W 7l n A R 6 Wl 1 3 X 3t T 3 0 (n+3) fefl o QU o e § AR Y 3t T (n+12)
feefl o O &8 e , fl n 61 AT 9 it

e e

o

B
10
i
45
Options :

22742774781. 1
22742774782. 2

22742774783. 3

22742774784. 4

Question Number : 22 Question Id : 22742719196 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Aman, while pointing towards a lady, said, "Her husband is the only son of my mother”. How is the man related to the lady?

1. Hushand

2.5on

3. Father-in-law

4 Brother-in-law
Options :
22742774785. 1
22742774786. 2
22742774787. 3

22742774788. 4

Question Number : 22 Question Id : 22742719196 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

U fTeH! - U Hiedl I 2R IR Hd U Sl "IHb1 Ufd H Hi 1 Uil T g
HIGH! B 39 Afgal U Hdl J94 § ?

1. 0fd
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3 IR

o
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Options :
22742774785. 1
22742774786. 2
22742774787.3

22742774788. 4

Question Number : 23 Question Id : 22742719197 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Aqirl walks straight in the opposite direction of the front door of her house. The front door of the house is facing towards south.
Atter walking for 50 meters the girl turns to her left and walks 100 meters thereafter the girl tums right and stops after walking
for 100 meters. Which direction the girl is facing now?

1. North
2. South
3. North-west
4 North-gast

Options :

22742774789. 1
22742774790. 2
22742774791. 3

22742774792. 4



Question Number : 23 Question Id : 22742719197 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
T Teh! 4O TR o T o ol ) 1o Fot ) il 61 390 R b W e ol G4 ol @1 N el 5150

Y T 9, 5 ) R e 2 9 100 0 0 31 0% 9, T i e AR e R 10 e
T % 00 R | 99 750 710 o T 2

1. JW
2. <

3. TRUEH

43RG
Options:
22742774789. 1
22742774790. 2
22742774791. 3

22742774792. 4

Question Number : 24 Question Id : 22742719198 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What number would replace question mark (?) in the series given below?
1,6, 18, 44, 98, 208, 430, ?

L N
[ma]
|
[y

oy

w00
| xR o e
o

Options :

22742774793. 1
22742774794, 2
22742774795. 3

22742774796. 4



Question Number : 24 Question Id : 22742719198 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

I €1 712 siaaen § uyaEd [©F (?) B B O 9 ufowiifud &l 2

1,6, 18, 44, 98, 208, 430, ?

[ T L
(o B i
=] L2
oy T

oy

w0
[On
o O

Options:

22742774793. 1
22742774794. 2
22742774795. 3
22742774796. 4

Question Number : 25 Question Id : 22742719199 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a certain coding language:

a) 'AMAN' is coded as 29

b) 'RAMAN' is coded as 47

How "SHAM' will be coded in that language?

43
28
41
.37

[

=

Options :
22742774797. 1

22742774798. 2



22742774799. 3
22742774800. 4

Question Number : 25 Question Id : 22742719199 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
U i3 de HIw o -

a)'AMAN', 29 H U § pfed &

b) 'RAMAN' 47 & ®UH pfed g

Y Y19 H 'SHAM' &I Bl Bied fddl ST 2

43
28
41
37

[

e

Options:

22742774797. 1
22742774798. 2
22742774799. 3

22742774800. 4

Question Number : 26 Question Id : 22742719200 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are so related that if one of them Is false, the other must be true, even though both of them
can be frue?

A Some cars are e-vehicles
B. Some cars are not e-vehicles
C. No cars are e-vehicles.

D All cars are e-vehicles

Choose the correct answer from the options given below;

1.(A) and (B) only

2.(B) and (C) only

3. (A) and (C) only
4.(C)and (D) only.
Options :
22742774801. 1
22742774802. 2
22742774803. 3

22742774804. 4

Question Number : 26 Question Id : 22742719200 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(C). I 1 BR 3417 781 3l o1
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1. %aa (A) 3R (B)
2 a4 (B) 3R (C)
3 W (A) 3R (C)

o4 (C) 3R (D)
Options :
22742774801. 1
22742774802. 2
22742774803. 3

22742774804. 4

Question Number : 27 Question Id : 22742719201 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



If the statement "All trucks are polluting vehicles is given as true, which of the following statements could be immediately
inferred to be false?

A Some frucks are polluting vehicles.

B. Some polluting vehicles are frucks.

C. Some frucks are not polluting vehicles.

D. No trucks are polluting vehicles.

Choose the correct answer from the options given below:

1.(C) and (D) only.

2. (A) and (B) only

3. (B) and (C) only.

4. (A) and (C) only.
Options :
22742774805. 1
22742774806. 2
22742774807. 3

22742774808. 4

Question Number : 27 Question Id : 22742719201 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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4. T (A) R (C)
Options :
22742774805. 1
22742774806. 2
22742774807. 3

22742774808. 4

Question Number : 28 Question Id : 22742719202 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is equivalent to the statement- "Some non-realists are not non-philosophers."?

1. Some philosophers are not realists.
2. No philosophers are realists.

3. Some realists are philosophers.

4. Some philosophers are realists.

Options:

22742774809. 1
22742774810. 2
22742774811. 3

22742774812. 4



Question Number : 28 Question Id : 22742719202 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Fofafed o 9 oF-91 Y "$8 TR-gurad IRER® 76l & Y9 & 99dd 87

2. @5 1 i gundard! 72 8|
3. DS 'E_?_."[?_IG;{l G“ill—{l_‘:.-'q'] %l

4. 7S GRIH® gUriardi g |

Options:

22742774809. 1
22742774810. 2
22742774811. 3

22742774812. 4

Question Number : 29 Question Id : 22742719203 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

"No one has been ever able to prove that Glaciers in the arclic region are melting because of Global warming. Therefore,
glaciers in the arctic region must be melting on their own." Which fallacy is committed in the above statement?

1. Fallacy of Accident
2. Slippery Slope

3. Hasty Generalisation
4 Appeal to Ignorance

Options :

22742774813. 1
22742774814. 2
22742774815. 3
22742774816. 4



Question Number : 29 Question Id : 22742719203 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742774813. 1
22742774814. 2
22742774815.3

22742774816. 4

Question Number : 30 Question Id : 22742719204 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According to classical Indian school of logic which of the following are names of fallacies involving contradiction of the middle
term by another middle term?

A Svarupasiddha

B. Badhita

C. Wapyatvasiddha

D. Viruddha

Choose the correct answer from the options given below

(B) and (D) only
(A) and (C) only
C) and (D) only

1
2
3
4.(C) only

(
(
Options :

22742774817. 1
22742774818. 2
22742774819. 3

22742774820. 4

Question Number : 30 Question Id : 22742719204 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742774817. 1
22742774818. 2
22742774819. 3

22742774820. 4

Question Number : 31 Question Id : 22742719205 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

AMedia Access Control (MAC) addrass refers to a number which uniquely identifies a device on the Intemet and is usually
made up of bits.

1.16

23

348

4128

Options:
22742774821. 1
22742774822. 2
22742774823.3

22742774824. 4



Question Number : 31 Question Id : 22742719205 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

s v dhel (T U ) U3 U e o 2 v £ o e ol afd (R 7 o A e v
IRTGEHAT__ facwagl

1.16

2.3

3.48

4.128

Options:
22742774821. 1
22742774822. 2
22742774823.3

22742774824. 4

Question Number : 32 Question Id : 22742719206 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which VLOOKUP in MS-EXCEL, when entered into cell L2 and then dragged to cell L5, returns the average number of calls for
representative |Ds listed in coloumn J?

A B C J K L

1| Representafive ID Number | Avg.Call Length (Mins.) | Avg.Number of calls | Representative ID Number | Hire Date | Avg.Number of calls
2 41186 93 1392 44369 9129119

3 41868 6.1 1324 41668 9/24119

4 42434 [] 1295 42666 61015

] 42866 8.3 136.0 41186 N9

) 43027 49 1269

7 44369 70 106.8

=VLOOKUP (A2, J2.15, 1 FALSE)
2 =VLOOKUP (2, AS2.CS7. 1 FALSE)
3. =VLOOKUP (2, AS2.CS7. 3 FALSE)
4 =VLOOKUP (42, A2CT.3, FALSE)

Options :

22742774825. 1
22742774826. 2
22742774827. 3

22742774828. 4

Question Number : 32 Question Id : 22742719206 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T TH.R & 68 VLOOKUP T 1 L2 Ja(CELL) F 78 Jd¥ &% § iR 10 38 L580(CELL) 70 Wied & ol lem J °
Tiag Tedia o 3 & o e @ offa S cuidi 3 2

A B B J K ]

1 GRIG TS S S| 1 T e () T 1 S T (e oS S S e X O o] T v ] e
) 4% 93 1392 44389 929/19

3 41888 61 1324 41888 924/19

4 a3 75 1295 12886 61015

5 42886 83 136.0 41136 11719

6 430 49 1269

71 44389 70 1088

=VLOOKUP (A2, J2.15, 1 FALSE)
2 =VLOOKUP (2, AS2.CS7. 1 FALSE)
3. =VLOOKUP (2, AS2.CS7. 3 FALSE)
4 =VLOOKUP (42, A2CT 3, FALSE)

Options :

22742774825. 1
22742774826. 2
22742774827. 3

22742774828. 4

Question Number : 33 Question Id : 22742719207 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

statement |: Denial-of-Service (DoS) attack is the large number of requests sent at the same time to the web server, thereby
causing the server to crash.

statement II: Virus 15 a self-replicating malicious software causing computer to run slowly.
In light of the above statements choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (Il) are frue.
2. Both Statement (1) and Statement (1) are false.
3. Statement (1) 1s true but Statement (II) is false.
4. Statement (1) 1s false but Statement () Is true.

Options:



22742774829. 1
22742774830. 2
22742774831. 3

22742774832. 4

Question Number : 33 Question Id : 22742719207 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
RgsEfums
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1. % | R 1| GHl 9 8|
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3T Tl R, foeq B 1| S )
4 T | 900 5, o B 11 T B
Options :
22742774829. 1
22742774830. 2
22742774831. 3

22742774832. 4

Question Number : 34 Question Id : 22742719208 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements about quantum computing are correct?
A Principles of quantum physics are applied in it.

B. Quantum bits (qubits) are used as the information unit.

C. Quantum Computers emit radiation fatal to humans/users.

Choose the correct answer from the options given below:

1. (A) and (B) only.
2. (A)and (C) only.
3. (B) and (C) only.
4 (A), (B) and (C).
Options :
22742774833. 1
22742774834. 2
22742774835. 3

22742774836. 4

Question Number : 34 Question Id : 22742719208 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

FaicH T & §R H FEiiad ¥ $1H-8 Y 98l € 2

(A). 39 Fafen Hive & Riid Srvged 3 &

(B). FaieH f9ey (Fgfacy) &1 Y4N Yo dbls & ©4 § [dbal oidl &

(C). TaicH He HHAIMdIFI3 & AU Ui fafdul & e did & |
i feu e fgoedl H 9 98 SR 9 -

1.%ad (A) 3R (B)
2 &dd (A)3R (C)
3. ®dd(B) 31X (C)
4 (A), (B) 3R (C)

Options:

22742774833. 1



22742774834. 2
22742774835. 3

22742774836. 4

Question Number : 35 Question Id : 22742719209 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following facilities are available in word-processing software such as MS-WORD?
A_Find and Replace

B. Mail Merge

C. Spell check and thesaurus

D. Automatic Recalculation

Choose the correct answer from the options given below

1. (A), (B) and (C) only.
2.(B) and (C) only

3. (C) and (D) only

4. (A), (B) and (D) only.
Options:
22742774837. 1
22742774838. 2
22742774839. 3

22742774840. 4

Question Number : 35 Question Id : 22742719209 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. %4d (A). (B) 3R (C)
2 ®4dd (B) 3R (C)

3. &4d (C) 3R (D)

4 &ad (A), (B) 3R (D)
Options:
22742774837. 1
22742774838. 2
22742774839, 3

22742774840. 4

Question Number : 36 Question Id : 22742719210 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

When a water body is deficient in nutrients, it is known as

1. Oligotrophic
2. Eutrophic

3. Mesotrophic
4. Dystrophic

Options:

22742774841. 1
22742774842, 2
22742774843. 3
22742774844. 4



Question Number : 36 Question Id : 22742719210 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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3. A

4. gudt
Options:
22742774841. 1
22742774842. 2
22742774843. 3
22742774844. 4

Question Number : 37 Question Id : 22742719211 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Discovery of Ozone hole was first made over

1. Arctic

2. Equator

3. Antarctic

4 Tropics
Options :
22742774845. 1
22742774846. 2
22742774847. 3

22742774848. 4



Question Number : 37 Question Id : 22742719211 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
IS oo @1 Gauud @i g © O ®el gs 41 2

1. IR ydig &
2. YA ¥l

3. GI&T Ydig &
4. I Bicay &
Options :
22742774845, 1
22742774846. 2
22742774847. 3

22742774848. 4

Question Number : 38 Question Id : 22742719212 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the correct increasing order of prescribed limits for following pollutants on 24 hours basis in residential areas by
CPCB?

A Suspended Particulate Matter (SPM)

B. Respirable Suspended Particulate Matter (RSPM)

C. Lead (pb)

D. Ammonia (NH;)

Choose the correct answer from the option given below:

(), (B). ), 0)
B), (A), (C), (D)
C), D), (B). (A)
C), (B), (), D)

1
2.
3.(C),
4.(C),

M/

Options :



22742774849. 1
22742774850. 2
22742774851. 3

22742774852. 4

Question Number : 38 Question Id : 22742719212 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
ot < ot g o srardta 1 7 24 92 & omuR R Fafafied wovel @t di @1 Sfid 96d gU A A qat|

(A). fcied faftreia werd (sPum)

(B). e fcfe faforepta e (RsPm)
(C). TFT (Pb)

(D). ST (NH;)

I few e faedi § 4 98 SR

(A),
B),

) |C| ID]

1.(A), (B)

2 (B). (A), (C). (D)
3.(C), (D), B). (A)
)

(
(C)
(C), (B), (A), (D)

4
Options :

22742774849. 1
22742774850. 2
22742774851. 3

22742774852. 4

Question Number : 39 Question Id : 22742719213 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement || A nuclear power reactor is a system designed to sustain a fission chain reaction and extract useful energy.
statement II: Light water reactors use ordinary water as the moderator

In light of the above statements,choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (Il) are true.
2. Both Statement (|) and Statement (II) are false.
3. Statement (1) is true but Statement (Il) is false.
4 Statement (1) is false but Statement (1) is true.

Options :

22742774853. 1
22742774854. 2
22742774855. 3
22742774856. 4

Question Number : 39 Question Id : 22742719213 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742774853. 1
22742774854, 2

22742774855. 3



22742774856. 4

Question Number : 40 Question Id : 22742719214 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are fwo statements:
Statement | Composting is aerobic degradation of organic materials under controlled conditions, yielding a marketable manure.

Statement [ In such composts, concentrations of key nutrients such as nitrogen, phosphorous and potassium are sufficient
enough to compete with commercial fertilizers.

In light of the above statements choose the most appropriate answer from the options given below

1. Both Statement (1) and Statement () are true.
2. Both Statement (1) and Statement (1) are false.
3. Statement (1) Is true but Statement (1) is false.

4 Statement (1) Is false but Statement (1) s true.

(
(

Options :

22742774857. 1
22742774858. 2
22742774859. 3
22742774860. 4

Question Number : 40 Question Id : 22742719214 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742774857. 1
22742774858. 2
22742774859. 3
22742774860. 4

Question Number : 41 Question Id : 22742719215 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who among the following opposed the implementation of western system of education in India?

1. William Adam

2. Lord Canning

3. Mrs. Annie Besant
4 BL Rice

Options:

22742774861. 1
22742774862. 2
22742774863.3

22742774864. 4

Question Number : 41 Question Id : 22742719215 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Frgfeiad 9 9 feg- YRd § Uiy fR&T Yormed &1 Sraii-ad B ol faviy fogr o1 2

1. fafcga UsH
2. T8 BT

3. 9wl Tl dde
4. &1 T TSY

Options :

22742774861. 1
22742774862. 2
22742774863. 3
22742774864. 4

Question Number : 42 Question Id : 22742719216 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Indian university Act, 1904, was passed during the period of as viceroy.

1. Lord wellesly

2. Lord Ripon

3. Lord Curzon

4 Lord Chelmsford

Options :

22742774865. 1
22742774866. 2
22742774867.3
22742774868. 4

Question Number : 42 Question Id : 22742719216 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

YR fayfaenayg faagq. 1904, g I1993™ & I § iiid faear 71471 47 2
1. dls doRdl

2. dls oA

3. Tis D

4 Tl JHBIS

Options :

22742774865, 1

22742774866. 2

22742774867. 3

22742774868. 4

Question Number : 43 Question Id : 22742719217 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following autonomous scientific institutions come under the financial umbrella of the Department of Science and
Technology?

A Bose Institute, Kolkata.

B. Agarkar Research Institute, Pune

C. Raman Research Institute, Bangalore.

D. Wadia Institute of Himalayan Geology, Dehradun.

E_ Indian Council of Astrological science, Banglore.
Choose the comect answer from the options given below;
Choose the correct answer from the options given below:
1.(A), (B) and (E) only.

2.(B), (D) and (E) only.

3.(C), (D) and (E) only

4 (A), (B), (C)and (D) only.



Options :

22742774869. 1
22742774870. 2
22742774871. 3

22742774872. 4

Question Number : 43 Question Id : 22742719217 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Feftiad 3 ®H-8 WEaa di-d S G5 au Ui G & (o I seidid ad & 2
(A) T8 M Bla@
(B). FRER FFHYH TR, 701

(C). T HTHYH T, FTaR
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Bad (A), (B) 3R (E)
©4qd (B), (D) 3R (E)
94 (C), (D) AR (E)
@ad (A), (B), (C) 3R (D)
Options :
22742774869. 1
22742774870. 2
22742774871.3

22742774872. 4

Question Number : 44 Question Id : 22742719218 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Who among the following are said to have had their education at Takshashilla?
A_ 5 Chaitanya

B. Panini

C. Nagarjuna

D. Chanakya

Choose the correct answer from the options given below

1. (A) and (C) only
2.(B), (C) and (D) only
3. (A), (B) and (C) only.
4 (B) and (D) only
Options :
22742774873. 1
22742774874. 2
22742774875. 3

22742774876. 4

Question Number : 44 Question Id : 22742719218 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(C). AR
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1.ad (A) 3R (C)

2 ®ad (B), (C) 3R (D)

3. ®ad (A), (B) 3R (C)

4 &dd (B) 3R (D)

Options :

22742774873 1

22742774874, 2

22742774875. 3

22742774876. 4

Question Number : 45 Question Id : 22742719219 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

In 1902 , in a telegram to Hamilton, who among the following proposed to appoint Indian Universities commission with six
permanent members?

1. S.H. Wood

2. A Abbott

3. Lord Curzon
4. Lord Macaulay

Options:

22742774877. 1
22742774878. 2
22742774879.3

22742774880. 4



Question Number : 45 Question Id : 22742719219 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
1902 H &¥ced 1 TR HaR i & § foe &: R Taw aTo SR faufoeed ST g &% @1 T a1 412

2. U dfedc
Options:
22742774877. 1
22742774878. 2
22742774879. 3

22742774880. 4

Sub-Section Number : 3
Sub-Section Id : 227427753
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 22742719220 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension



Read the passage and answer the questions that follow:

Based on molecular evidence, we know life evolved from one common ancestor around three billion years ago. From then,
evolution progressed. slowly to begin with - in the last billion years, we see very rapid diversification of life forms on Earth as
multiple components clicked into place, including multicellufarity or multiple cells coming together to form one organism, etc.
Against this backdrop, we find all insects share a relationship with each other - they have a certain body plan, cellular functions,
genetically encoded features (many have six legs, for instance) and the information of how these features are formed encoded
in their genome. Butterflies share many evolutionary features with insects. Butterflies are also specialised moths, the two
separating from their sister group of insects 150 to 200 million years ago. Thereafter, moths themselves evolved significantly
before butterflies emerged as a separate group about 65 million years ago, around when dinosaurs went extinct. All the
characteristics butterflies have-including much more acute vision compared to moths who rely more on smell - grew thereon.
Visual cues are extremely important for butterflies which explains why many are so attractive. Their appealing colours evolved
1o help them either evade predators or attract mates, dark colours developing to help butterfiies maintain body temperature,
being cold-blooded.

Some species developed fascinating traits. Aposematism is a combination of two feafures - one is a defence against predaors,
like & chemical cover, some butterflies being toxic to birds, spiders, etc. These caterpillars feed on toxic plants which are
difficult, if not deadly, for predators to digest. Being protected thus is an internal property - but butterflies with toxins

then developed bright wing pattems to show predators they are dangerous, signalling the risk they bear,

Sub questions

Question Number : 46 Question Id : 22742719221 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Butterflies and Insects separated

1. 1 million years ago

2. 85 million years ago

3. 150-200 million years ago
4 3 billion, years ago.

Options :

22742774881. 1
22742774882. 2
22742774883. 3

22742774884. 4



Question Number : 47 Question Id : 22742719222 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Compared to moths, butterflies

A_have better vision

B. rely more on smelling power

C. are less attractive

D. are more colorful

Choose the correct answer from the options given below:

1. (A) and (C) only

2. (B), (C) and (D) only
3. (A) and (D) only

4 (A), (C)and (D) only
Options:
22742774885. 1
22742774886. 2
22742774887. 3

22742774888. 4

Question Number : 48 Question Id : 22742719223 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Appealing colours of butterflies serve all these purposes:
A Repel mates

B. Evade predators

C. Maintain body temperature

D. Attract predators.

E. Attract mates

Choose the correct answer from the options given below:

1. (A), (B) and (C) only.

2. (A), (B), (C)and (D) only.
3. (B), (C), (D) and (E).

4. (B), (C)and (E) only.
Options :

22742774889. 1
22742774890. 2
22742774891. 3

22742774892. 4

Question Number : 49 Question Id : 22742719224 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (I): Butterflies are specialized moths.

Statement (Il): Butterflies emerged as a separate group about the time when dinosaurs went extinct.
In light of the above statements choose the most appropriate answer from the options given below.

1. Both Statement (I) and Statement (II) are true.
2. Both Statement (1) and Statement (1) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (1) is true.

Options :



22742774893. 1
22742774894. 2
22742774895. 3

22742774896. 4

Question Number : 50 Question Id : 22742719225 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Aposematism i1s a combination of

A. Defence against predators by emitting a bad Smell.

B. Brnight wing patterns for camauflage.

. Defence against predators by butterflies with toxins.

D. Bright wing patterns to show predators they are dangerous.
Choose the correct answer from the options given below

1. (A) and (D) only
2. (B) and (C) only
3. (C)and (D) only
4 (D) only.

Options :

22742774897. 1
22742774898. 2
22742774899. 3

22742774900. 4

Question Id : 22742719220 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 22742719221 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
faafert 3R @ie fva- ad gd gy gu?

1.1 T&fea= ad ugd
2 85 fafea a4 gga
3. 150-200 f&fera= g uga
4. 3 fafe= ad ugd

Options :

22742774881. 1
22742774882. 2
22742774883. 3

22742774884. 4

Question Number : 47 Question Id : 22742719222 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ot @t o | faafer
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1. ®dd (A) R (C)

2 @dd (B), (C) 3R (D)
3. &ad (A) 3R (D)

4 dd (A), (C) 3R (D)
Options :
22742774885. 1
22742774886. 2
22742774887.3

22742774888. 4

Question Number : 48 Question Id : 22742719223 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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4 ®ad (B), (C) 3R (E)

Options :

22742774889. 1
22742774890. 2
22742774891. 3

22742774892. 4

Question Number : 49 Question Id : 22742719224 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742774893. 1
22742774894. 2
22742774895. 3

22742774896. 4

Question Number : 50 Question Id : 22742719225 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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4 &dd (D)
Options :
22742774897. 1
22742774898. 2
22742774899, 3

22742774900. 4
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Question Number : 51 Question Id : 22742719226 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742774901. 1
22742774902. 2
22742774903. 3

22742774904. 4



Question Number : 51 Question Id : 22742719226 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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JE& S, 3

-~
*

Jik, _4

Options :

22742774901. 1
22742774902. 2
22742774903. 3

22742774904. 4

Question Number : 52 Question Id : 22742719227 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

L3 p b Ut 2 e

Options:



22742774905. 1
22742774906. 2
22742774907. 3

22742774908. 4

Question Number : 52 Question Id : 22742719227 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742774905. 1
22742774906. 2
22742774907. 3
22742774908. 4

Question Number : 53 Question Id : 22742719228 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742774909. 1
22742774910. 2
22742774911. 3

22742774912. 4

Question Number : 53 Question Id : 22742719228 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Jﬂbdf le,LJ_.:z&.,w

Options :

22742774909. 1
22742774910. 2
22742774911. 3
22742774912. 4



Question Number : 54 Question Id : 22742719229 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

. -r‘l.cu Lu»f/ r"/f@_sfé.ul, J:)If}a_, g S;L, 7
Jﬁﬁ:ﬁl ]
L?}Qdﬁlﬁrbﬁ 2
JPA 3
JF 4

Options :

22742774913. 1
22742774914. 2
22742774915. 3
22742774916. 4

Question Number : 54 Question Id : 22742719229 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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22742774913.1
22742774914. 2
22742774915. 3

22742774916. 4

Question Number : 55 Question Id : 22742719230 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1920 .2
1924 _3
1928 _4

Options :

22742774917. 1
22742774918. 2
22742774919. 3
22742774920. 4

Question Number : 55 Question Id : 22742719230 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



r

MWL,

1916 -1
1920 .2
1924 _3
1928 -4

Options :

22742774917. 1
22742774918. 2
22742774919. 3

22742774920. 4

Question Number : 56 Question Id : 22742719231 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

?E,J _P.vf‘:_,l EJ#;JJ&@:J/F@JJJJIIG & L‘;‘f Z;C,' L J;’jb/”

w?/r =1
oL -2
u..*’) 23

g -
Jiel A4
Options :
22742774921. 1
22742774922, 2
22742774923, 3

22742774924. 4



Question Number : 56 Question Id : 22742719231 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

qzdgﬁﬁﬁjpgaMﬁ@bﬂﬁu%Wﬁgaﬁ ;JH;j”

Options :

22742774921. 1
22742774922. 2
22742774923. 3

22742774924. 4

Question Number : 57 Question Id : 22742719232 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
il urﬁi,i_nﬁ Cssf\ e iR s ok 3 6
o j’.a-]{l 2]
GO
Sibs -3
57 .4

Options :



22742774925. 1
22742774926. 2
22742774927. 3

22742774928. 4

Question Number : 57 Question Id : 22742719232 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Options :

22742774925. 1
22742774926. 2
22742774927.3
22742774928. 4

Question Number : 58 Question Id : 22742719233 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Options :

22742774929. 1
22742774930. 2
22742774931. 3

22742774932. 4

Question Number : 58 Question Id : 22742719233 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

:EE! T I-‘"ﬁg 23 -éa’;bg/'jpﬁ

Options:

22742774929. 1
22742774930. 2
22742774931.3
22742774932. 4

Question Number : 59 Question Id : 22742719234 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
isws “@ b 1 ames 2
Al ﬁ;)vﬁ_)’y o f?ﬂ:#.%g;ﬁ'b
ul .‘1"
reds s -1
Bedss 2
3T -3
2o g~ -4
Options :
22742774933. 1
22742774934. 2

22742774935. 3

22742774936. 4

Question Number : 59 Question Id : 22742719234 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
e P S RS
Foldl -1
Jedsr 2
2o 57 3
A 4
Options :

22742774933. 1
22742774934. 2



22742774935. 3

22742774936. 4

Question Number : 60 Question Id : 22742719235 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
: ‘aﬁ;ug;,gj»éd ="
Jo 1
:..r/ﬁ’ o

Job 3
g/ -4

Options :

22742774937. 1

22742774938. 2

22742774939. 3

22742774940. 4

Question Number : 60 Question Id : 22742719235 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



. e ol 3 i éﬁj L = b
: %L,l:),;.‘l}" 5 ,/.3]
JE 1
:..r/fx 2
gk 23
Qs -4
Options :
22742774937. 1
22742774938. 2

22742774939. 3

22742774940. 4

Question Number : 61 Question Id : 22742719236 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

» 6%

: L:)l,l-’:!sé;/':’u/“’ z‘a@_f:.»;wt‘il: ”

*
o
Sl -1

Shsl} -2
[, 148
Ans 4

Options:

22742774941. 1
22742774942. 2
22742774943. 3
22742774944. 4



Question Number : 61 Question Id : 22742719236 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

O T U/ 077
3 1
JT:I/. i
P =3
4ty 4
Options :

22742774941.1
22742774942. 2
22742774943. 3

22742774944, 4

Question Number : 62 Question Id : 22742719237 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(8 S UL 7 T



Options :

22742774945, 1
22742774946. 2
22742774947, 3

22742774948. 4

Question Number : 62 Question Id : 22742719237 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

i 5 PUP

~ ::"‘:D'L{'- e
Ozle -4

Options :

22742774945, 1
22742774946. 2
22742774947. 3

22742774948. 4

Question Number : 63 Question Id : 22742719238 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e

S, g
G I TL
N 22
e -3
..,E/:I;:;T;-’_g(j.ir“ -4

Options :

22742774949. 1
22742774950. 2
22742774951. 3

22742774952. 4

Question Number : 63 Question Id : 22742719238 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Z;L;rl % o uﬁ"i; N
SN 2
Lt -3
oz i.;.k(jif‘ -4

Options :

22742774949. 1
22742774950. 2
22742774951. 3

22742774952. 4



Question Number : 64 Question Id : 22742719239 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
: u.lf/-::#ﬂ;ﬁj.f ‘UJJ%};{?K_E; E,:: ”
LT 1
LT A 2
LT ¥y <3

,Lirjﬁ 4

Options:

22742774953. 1
22742774954, 2
22742774955. 3

22742774956. 4

Question Number : 64 Question Id : 22742719239 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
: ;Jr/;ﬂbéa‘;f ‘LJTJ:?,,;{?K_EJ E":f ”
LTI 1
LTy #A 2
LT ¥y =3

,Liw"ﬁ 4

Options :



22742774953. 1
22742774954. 2
22742774955. 3

22742774956. 4

Question Number : 65 Question Id : 22742719240 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Z;;)LL“ME;/*E'J/“’ - _;:"c):b/aﬁyl;:ﬁgl; g
Fiarn -1
=L -2
A5 3
(j..:_,*’f/.:j; 4

Options:

22742774957. 1
22742774958. 2
22742774959. 3

22742774960. 4

Question Number : 65 Question Id : 22742719240 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



YR FUP T P ss
Fiapn -
.,
A 3
Srihs 4

Options :

22742774957. 1
22742774958. 2
22742774959. 3
22742774960. 4

Question Number : 66 Question Id : 22742719241 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

sz o0 LTI

JE?[LJE o
=4l 2

. &
L,'f*rj !ﬂ'ft'd' o)
£é 4
Options:
22742774961. 1
22742774962. 2

22742774963. 3

22742774964. 4



Question Number : 66 Question Id : 22742719241 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

J JU/G A

ekl L2
,; &
L;J !/U'JC'J' s
Lé 4
Options :
22742774961. 1
22742774962. 2

22742774963. 3

22742774964. 4

Question Number : 67 Question Id : 22742719242 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

:jﬁg&i&ﬂl € -b,a‘:jj 9

ﬁ{g’bif’h =

y
SPag” 2
JTJ.?TL,;FE/L;H!//; s
,:ff,auﬂ*‘ t‘u";.‘u'f- -4



Options :

22742774965. 1
22742774966. 2
22742774967. 3

22742774968. 4

Question Number : 67 Question Id : 22742719242 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

:jﬂgaiwl ¢ ._*‘_,«fj! 33

W

JL:;L*JIJ,{,S& 1
§agt -2
TfTJfTUr{'fuuiﬁ s

b s

,:ff,:uﬁ‘ t‘u"fu"'* -4

Options :

22742774965. 1
22742774966. 2
22742774967. 3

22742774968. 4

Question Number : 68 Question Id : 22742719243 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



s e N E N D Y A
S 1

C}/‘wﬁ' -2
e 1 .3

A

Options :

22742774969. 1
22742774970. 2
22742774971. 3
22742774972. 4

Question Number : 68 Question Id : 22742719243 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
ke 2 T T E R v 1 5 A
S 1
QS -2
"2 _l .3
o

Options :

22742774969. 1
22742774970. 2
22742774971. 3

22742774972. 4



Question Number : 69 Question Id : 22742719244 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

:Jbﬁzu’f;‘ﬁ}
Ay -
w2
L
&5 -4

Options :

22742774973. 1
22742774974, 2
22742774975, 3

22742774976. 4

Question Number : 69 Question Id : 22742719244 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

:Jbﬁgu’(}r‘&
Sy
i oD
g
&5 -4

Options:



22742774973.1
22742774974. 2
22742774975. 3

22742774976. 4

Question Number : 70 Question Id : 22742719245 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Sﬂﬂﬁ 21

W)y .
S8 -3
3t -4

Options :

22742774977. 1
22742774978. 2
22742774979. 3

22742774980. 4

Question Number : 70 Question Id : 22742719245 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



disel -2
S8 -3
3f -4

Options :

22742774977. 1
22742774978. 2
22742774979. 3

22742774980. 4

Question Number : 71 Question Id : 22742719246 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
i Vo £ & oy s Y
—"““?ﬁq.fuw D'I!Llﬁﬁfg‘ﬂrﬁjﬁjﬁﬁ@v_ﬂi
AT A
.
A~/ -2
Falul? -3
o -4
Options:
22742774981. 1
22742774982. 2

22742774983. 3
22742774984. 4



Question Number : 71 Question Id : 22742719246 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
—"-r.&ffﬁ_;/uf}ﬂf (E:,'lﬂilrjfg‘ar;ﬂ:ﬁﬁé;_ﬁj "’
AL -1
fd; E:QAH"J( i
f';JA“:I:; %
/d . -4
Options:
22742774981. 1
22742774982. 2

22742774983. 3

22742774984. 4

Question Number : 72 Question Id : 22742719247 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Tl # . ‘i' o ‘4 *s ¥ P .i : 4 13
?wﬂi&f;bﬁ.. 25 S (13 Ut fae J::J o S i 2
PP FieA
//6 :/::‘-.”":3 -2
)’UFJ ;f'dsﬂ*f';hfxf -3

PO b, A



Options :

22742774985. 1
22742774986. 2
22742774987. 3

22742774988. 4

Question Number : 72 Question Id : 22742719247 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

*

waxﬁfﬁ{dwgfiﬁ!lm’f “'f.:)””‘:.fz‘,.( ‘Uwa%ﬂ;" "
/Lf’/EU/”*-*”; -1
/'/6 ﬁ*—:’fz -2
PPibait 3
4

I

Options :

22742774985. 1
22742774986. 2
22742774987. 3

22742774988. 4

Question Number : 73 Question Id : 22742719248 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



s i 33 Bl e N v oo ST P -y - 33
Y Uhgbé/ USER, T ir/.j ) Ny PR P} ] ¥

Options :

22742774989. 1
22742774990. 2
22742774991. 3

22742774992. 4

Question Number : 73 Question Id : 22742719248 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Catadhs ng:i/ U/L&Jm,/u ﬂ?(/.i!” :L,m_.f E eolmb™

Options:

22742774989. 1
22742774990. 2
22742774991. 3
22742774992. 4



Question Number : 74 Question Id : 22742719249 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
. ™ 11 L L A P { g . &0 5
YWBe 3L B AU iz Ut

i -1

-

st 2

\h\

-3

X
3o

I
=)

Options:

22742774993. 1
22742774994, 2
22742774995. 3
22742774996. 4

Question Number : 74 Question Id : 22742719249 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
. b B s 8,77 iz . p K5 = N &4 3
Y 3L R PUP izt s

L;,f;} oy

-

pib 2

\h'\

-3

X
3o

g
=)

Options:



22742774993. 1
22742774994. 2
22742774995. 3

22742774996. 4

Question Number : 75 Question Id : 22742719250 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

OIS A
e
Sl -2
l;_'_..-]/p‘#.:-ﬂ__‘w —4
Options :
22742774997. 1
22742774998. 2

22742774999. 3

22742775000. 4

Question Number : 75 Question Id : 22742719250 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



I Z ST YT
S -1
St -2
wa -

o
S e 4
Options :
22742774997. 1
22742774998. 2

22742774999. 3

22742775000. 4

Question Number : 76 Question Id : 22742719251 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

¢ nab bz e 2PN S My e

L -2
> 35

Options:

22742775001. 1
22742775002. 2
22742775003. 3

22742775004. 4



Question Number : 76 Question Id : 22742719251 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

STV PVLEN (5 VYA 7 P (L

j e _2
A3 3

Options:

22742775001. 1
22742775002. 2
22742775003. 3

22742775004. 4

Question Number : 77 Question Id : 22742719252 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Iz P T E S

-

dﬁ'{if_;}f‘ﬁf‘g i,
uyfﬂ-“v)f/’lﬂg B



Options :

22742775005. 1
22742775006. 2
22742775007. 3

22742775008. 4

Question Number : 77 Question Id : 22742719252 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

-

ISRz P T E S

‘,‘)’G{if_i{"ﬁ;‘g i
ST Py 23

Options :

22742775005. 1
22742775006. 2
22742775007. 3

22742775008. 4

Question Number : 78 Question Id : 22742719253 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



P
Jir 2
by rs 3

JV15 _4

Options :

227427750009. 1
22742775010. 2
22742775011. 3

22742775012. 4

Question Number : 78 Question Id : 22742719253 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

- ’ * - ; r
raedl g B B oS

Al dd
i 2
by rs 3

JV15 _4

Options :

22742775009. 1
22742775010. 2
22742775011. 3

22742775012. 4



Question Number : 79 Question Id : 22742719254 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
: L,'fﬁ|"¥’/’&,;db?()/{"/b’fﬁ;)‘by" ’ Jgfgﬁvﬁjeg?r %JQF’C}EJ”
S 1
JFs 2

SAEE 3

Options :

22742775013. 1
22742775014. 2
22742775015. 3

22742775016. 4

Question Number : 79 Question Id : 22742719254 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
: Urﬂrgf&'fﬂi?r)’f"/iéﬁ;fby" :: ,?Tgﬁ'ﬁjbg?f TLJJE:UV.,)”
Sl -1
JHGY 2

St 3



Options :

22742775013. 1
22742775014, 2
22742775015. 3

22742775016. 4

Question Number : 80 Question Id : 22742719255 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

F B PP iU

DR OLY P
A, 'y
* =

B E
JTeaos -2

-
o w

A -3
ST S5 4

Options :

22742775017. 1
22742775018. 2
22742775019. 3

22742775020. 4

Question Number : 80 Question Id : 22742719255 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Al Z I hiL A
Jrusid 1

& S g
JThas -2

-
o w

A7 -3
JS S5 4

Options :

22742775017. 1
22742775018. 2
22742775019. 3

22742775020. 4

Question Number : 81 Question Id : 22742719256 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e 5 (P
sk 1
I I b8 22
a7 /ufuﬁ..é‘ 43
dss;:;f_;__l: -4

Options:

22742775021. 1
22742775022. 2
22742775023. 3
22742775024. 4



Question Number : 81 Question Id : 22742719256 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e 5 (P
sk 1
I i mis -2
sz i‘/’/ufufuéf 43
Js:;:;f_;_g i

Options :

22742775021. 1
22742775022. 2
22742775023. 3

22742775024. 4

Question Number : 82 Question Id : 22742719257 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
TV Ve ‘E*t'u*fézyf‘iwdf:;;u )
K, -1
Kk 2
S _3
djgﬁ?Lm -4

—



Options :

22742775025. 1
22742775026. 2
22742775027. 3

22742775028. 4

Question Number : 82 Question Id : 22742719257 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

22

TV Ve rtu’f VA3
-

SE - -1

dfg)"‘ £,

JJK&:EH -3

# -,
L_S,r &t o -
Options :

22742775025, 1
22742775026. 2

22742775027. 3

22742775028. 4

Question Number : 83 Question Id : 22742719258 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



FEN A I U P
ij”/é’f =
s 2

.

B 4

Options :

22742775029. 1
22742775030. 2
22742775031. 3

22742775032. 4

Question Number : 83 Question Id : 22742719258 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
a T - Eor g o]y oo
i LB A RS sy
oY A
;u;up); e,

r

~§’é"g-4

Options :

227427750209. 1
22742775030. 2
22742775031. 3

22742775032. 4



Question Number : 84 Question Id : 22742719259 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

{'T:Lﬂ?i“{.ﬁ = (S ¥ r:@;: -,5,;/{_,,/ u‘r/"’
UL
S S 22

gzl 3

T’ -4

Options:

22742775033. 1
22742775034. 2
22742775035. 3

22742775036. 4

Question Number : 84 Question Id : 22742719259 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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T’ -4



Options :

22742775033. 1
22742775034, 2
22742775035. 3
22742775036. 4

Question Number : 85 Question Id : 22742719260 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
- ' . ) i p ¥l
I/ f;f_ﬁmﬂg”:ﬂ/")ﬁ;ag;?;ﬂﬁm ’ p";ﬂgfj'{(
Uiyl -1

u,'l.zﬂzf',j;' .
UIA -3

JL-EU” -4
Options :
22742775037. 1
22742775038. 2
22742775039. 3

22742775040. 4

Question Number : 85 Question Id : 22742719260 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Iz 23

Ul-sU” -4
Options :
22742775037. 1
22742775038. 2
22742775039. 3

22742775040. 4

Question Number : 86 Question Id : 22742719261 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
A & 7 R J. s { 33
?D’EJJ(E;J;'J}:"‘LU{EJLOE LJJ’LK!EZ/JJJ{&.

=
+

Ayl 1
At -2
MG idla P 3
Ag Sy 4

Options :
22742775041. 1

22742775042. 2



22742775043. 3

22742775044. 4

Question Number : 86 Question Id : 22742719261 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

sub B et ek J‘J’?’E@M fo

At
udb }f EJLJ .,
A iaila® |3
A Sy 4

Options :

22742775041. 1
22742775042. 2
22742775043. 3

22742775044. 4

Question Number : 87 Question Id : 22742719262 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Sl MR PO U e e P
:;;/K <1
g_JJJ{TiJLLF il

&y -3

Sk S -4

Options :

22742775045. 1
22742775046. 2
22742775047. 3
22742775048. 4

Question Number : 87 Question Id : 22742719262 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ST PSP o IS e e
:;/g -1
& )/E‘JL sz wl

£y -3

S8 f 4

Options:

22742775045. 1
22742775046. 2
22742775047.3

22742775048. 4



Question Number : 88 Question Id : 22742719263 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

?aﬁ;;’fﬁf;vﬁ}
/‘3/7&: =il

FJu 22
Al -3

Feld) 4

Options:

22742775049. 1
22742775050. 2
22742775051.3
22742775052. 4

Question Number : 88 Question Id : 22742719263 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Options :

22742775049. 1
22742775050. 2
22742775051. 3
22742775052. 4

Question Number : 89 Question Id : 22742719264 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Y RN AN TRy ST
I G
N2 e e 2
2750k -3
NI 4

Options :
22742775053. 1
22742775054. 2

22742775055. 3



22742775056. 4

Question Number : 89 Question Id : 22742719264 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Y BTN AN TRV ST
I G
NS P e 2
2750k -3

,Jffu‘ e -4
Options :
22742775053. 1
22742775054. 2
22742775055. 3

22742775056. 4

Question Number : 90 Question Id : 22742719265 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



?ﬁ;{ ;-"f;fu,ﬁt;" “erlena Bl Ses
Sz _1
S 2
Sak -3

Options :

22742775057. 1
22742775058. 2
22742775059. 3

22742775060. 4

Question Number : 90 Question Id : 22742719265 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

?ﬁ;{ ;-"f;fu,ﬁt;" “erlena Bl Ses
Sz -1
SMne 2
Ssk -3
b As 4

Options :
22742775057. 1
22742775058. 2

22742775059. 3



22742775060. 4

Question Number : 91 Question Id : 22742719266 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
/h”ﬂ,c_?’:;]’.f./b” g™ ,’.'JUT
¢
ﬁéf;w‘;ﬂ _A
,.;:»IJJ,; )gm ;L','.‘fvsl -B
,:f..:.fi:uj."&z{ jﬁ-gu‘{ . &
4-19..,&":{:)5"?’;@?; =13
m"?%%lﬂ)’v UZ <

(A), (B), (C), (D) -1
(B), (C), (D), (E) -2
(C), (D), (E), (A) -3
(D), (E), (A), (B) -4

Options :

22742775061. 1
22742775062. 2
22742775063. 3

22742775064. 4

Question Number : 91 Question Id : 22742719266 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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(A), (B), (C), (D) -1
(B), (C), (D), (E) -2
(C), (D), (E), (A) -3
(D), (E), (A), (B) -4

Options :

22742775061. 1
22742775062, 2
22742775063. 3

22742775064. 4

Question Number : 92 Question Id : 22742719267 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



VI S Sk s
FOIF A
Szl B
AN ANN 25U+ -C
sy A D
A= -E

N2 éir i35 T2 2
(A), (B), (C), (D) -1
(A), (C), (D), (E) -2
(D), (B), (A), (B) -3
(B), (C), (D), (E) -4

Options :

22742775065. 1
22742775066. 2
22742775067. 3

22742775068. 4

Question Number : 92 Question Id : 22742719267 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



VI S Sk s
FOIF A
Szl B
AN ANN 25U+ -C
sy A D
A= -E

N2 éir i35 T2 2
(A), (B), (C), (D) -1
(A), (C), (D), (E) -2
(D), (B), (A), (B) -3
(B), (C), (D), (E) -4

Options :

22742775065. 1
22742775066. 2
22742775067. 3

22742775068. 4

Question Number : 93 Question Id : 22742719268 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(B), (C), (D), (E) -1

(
(A), (B), (C), (E) -2
(A), (B), (C), (D) -3
(A), (B), (D), (E) -4

Options :

22742775069. 1
22742775070. 2
22742775071. 3

22742775072. 4

Question Number : 93 Question Id : 22742719268 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(B), (C), (D), (E) -1

(
(A), (B), (C), (E) -2
(A), (B), (C), (D) -3
(A), (B), (D), (E) -4

Options :

22742775069. 1
22742775070. 2
22742775071. 3

22742775072. 4

Question Number : 94 Question Id : 22742719269 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(A), (B), (D), (E) -1
(B), (C), (D), (E) -2
(A), (C), (D), (E) -3
(A), (B), (C), (E) -4

Options :

22742775073. 1
22742775074. 2
22742775075. 3
22742775076. 4

Question Number : 94 Question Id : 22742719269 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



:Dllfp-rurf}~£f GO B
=LA A
#~ _B
v» -C
uﬁr}: -D
Sti -E
h_,,rgéifﬁ/-*f,:mﬁ’fgfff,x
(A), (B), (D), (E) -1
(B), (C), (D), (E) -2
(A), (C), (D), (E) -3
(A), (B), (C), (E) -4

Options :

22742775073. 1
22742775074. 2
22742775075. 3
22742775076. 4

Question Number : 95 Question Id : 22742719270 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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oy Tastind ot 2 oA 7517
u"fgfd-; -A
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Spsss D
Uz -E
-7 T3 PR T s e
(A), (B), (C), (D) -1
(A), (C), (D), (E) -2
(B), (C), (D), (E) -3
(A), (B), (C), (E) -4

Options :

22742775077. 1
22742775078. 2
22742775079. 3
22742775080. 4

Question Number : 95 Question Id : 22742719270 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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uL..:(é;iJ -B
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Spsss D
Uz -E
-7 T3 PR T s e
(A), (B), (C), (D) -1
(A), (C), (D), (E) -2
(B), (C), (D), (E) -3
(A), (B), (C), (E) -4

Options :

22742775077. 1
22742775078. 2
22742775079. 3
22742775080. 4

Question Number : 96 Question Id : 22742719271 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A), (B), (C), (E) -1
(A), (B), (C), (D) -2
(A), (B), (D), (E) -3
(B), (C), (D), (E) -4

Options :

22742775081. 1
22742775082. 2
22742775083. 3
22742775084. 4

Question Number : 96 Question Id : 22742719271 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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JWL1 D
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(A), (B), (C), (E) -1
(A), (B), (C), (D) -2
(A), (B), (D), (E) -3
(B), (C), (D), (E) -4

Options :

22742775081. 1
22742775082. 2
22742775083. 3
22742775084. 4

Question Number : 97 Question Id : 22742719272 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



‘-l

AT I AT S A B
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gyl £ -C
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il _E
NG5 T s S e
(A), (B), (C), (E) -1
(A), (B), (D), (E) -2
(B), (C), (D), (E) -3
(A), (B), (C), (D) -4

Options :

22742775085. 1
22742775086. 2
22742775087. 3
22742775088. 4

Question Number : 97 Question Id : 22742719272 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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AT I AT S A B
LS A
s B
gyl £ -C
Ut Sk D
il _E
NG5 T s S e
(A), (B), (C), (E) -1
(A), (B), (D), (E) -2
(B), (C), (D), (E) -3
(A), (B), (C), (D) -4

Options :

22742775085. 1
22742775086. 2
22742775087. 3
22742775088. 4

Question Number : 98 Question Id : 22742719273 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Slrsfs U5 S
c)i;ﬁu 5‘,;J:F‘ _A
gyl B
Yidsd -C
Uigi D
uiﬁ.l,u,li,r_.l, <
% 5‘1 1570 P T2 2
(A), (B), (C), (D) -1
(B), (C), (D), (E) -2
(A), (B), (D), (E) -3
(A), (B), (C), (E) -4

Options :

22742775089. 1
22742775090. 2
22742775091. 3

22742775092. 4

Question Number : 98 Question Id : 22742719273 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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c)i;ﬁu 5‘,;J:F‘ _A
gyl B
Yidsd -C
Uigi D
uiﬁ.l,u,li,r_.l, <
% 5‘1 1570 P T2 2
(A), (B), (C), (D) -1
(B), (C), (D), (E) -2
(A), (B), (D), (E) -3
(A), (B), (C), (E) -4

Options :

22742775089. 1
22742775090. 2
22742775091. 3

22742775092. 4

Question Number : 99 Question Id : 22742719274 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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sl 1 E30E A
gﬁ/g‘;:’: -B

Yxdsp -E
% 6’1 1572 PTarsl s
(A), (C), (D), (E) -1
(A), (B), (C), (D) -2
(A), (B), (D), (E) -3
(B), (C), (D), (E) -4

Options :

22742775093. 1
22742775094, 2
22742775095. 3

22742775096. 4

Question Number : 99 Question Id : 22742719274 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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sl 1 E30E A
gﬁ/g‘;:’: -B

Yxdsp -E
% 6’1 1572 PTarsl s
(A), (C), (D), (E) -1
(A), (B), (C), (D) -2
(A), (B), (D), (E) -3
(B), (C), (D), (E) -4

Options :

22742775093. 1
22742775094, 2
22742775095. 3

22742775096. 4

Question Number : 100 Question Id : 22742719275 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A), (B), (C), (D) -1
(B), (C), (D), (E) -2
(A), (C), (D), (B) -3
(A), (B), (C), (E) -4

Options :

22742775097. 1
22742775098. 2
22742775099. 3

22742775100. 4

Question Number : 100 Question Id : 22742719275 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(A), (B), (C), (D) -1
(B), (C), (D), (E) -2
(A), (C), (D), (B) -3
(A), (B), (C), (E) -4

Options :

22742775097. 1
22742775098. 2
22742775099. 3

22742775100. 4

Question Number : 101 Question Id : 22742719276 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(A), (B), (D), (E) -1
(A), (B), (C), (D) -2

(B), (C), (D), (E) -3
(A). (C), (D), (E) -4
Options :
22742775101.1
22742775102. 2
22742775103. 3

22742775104. 4

Question Number : 101 Question Id : 22742719276 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A), (B), (D), (E) -1
(A), (B), (C), (D) -2

(B), (C), (D), (E) -3
(A). (C), (D), (E) -4
Options :
22742775101.1
22742775102. 2
22742775103. 3

22742775104. 4

Question Number : 102 Question Id : 22742719277 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(B), (C), (D), (E) -1
(A), (B), (D), (E) -2
(A), (B), (C), (D) -3
(A), (B), (C), (E) -4
Options :
22742775105. 1
22742775106. 2

22742775107. 3

22742775108. 4

Question Number : 102 Question Id : 22742719277 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(B), (C), (D), (E) -1
(A), (B), (D), (E) -2
(A), (B), (C), (D) -3
(A), (B), (C), (E) -4
Options :
22742775105. 1
22742775106. 2

22742775107. 3

22742775108. 4

Question Number : 103 Question Id : 22742719278 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



S A
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3f 4t D
gibeZ iy -E

A 5; 157007 Ty 2 2

(A), (B), (D), (E) -1
(B), (C), (D), (E) -2
(A), (B), (C), (D) -3
(A), (B), (C), (E) -4

Options :

22742775109. 1

22742775110. 2

22742775111.3

22742775112. 4

Question Number : 103 Question Id : 22742719278 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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3f 4t D
gibeZ iy -E

A 5; 157007 Ty 2 2

(A), (B), (D), (E) -1
(B), (C), (D), (E) -2
(A), (B), (C), (D) -3
(A), (B), (C), (E) -4

Options :

22742775109. 1

22742775110. 2

22742775111.3

22742775112. 4

Question Number : 104 Question Id : 22742719279 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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ER PUITEONE RSB v 2 o

J -A
Jlz -B
Jsw _C
Ju -D
JiF -E

-2 5; i37918 P Tas e
(A), (B), (C), (E) -1
(B). (C), (D), (E) -2
(A), (B), (D), (E) -3
(A), (C), (D), (E) -4
Options :
22742775113. 1
22742775114, 2

22742775115. 3

22742775116. 4

Question Number : 104 Question Id : 22742719279 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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ER PUITEONE RSB v 2 o

J -A
Jlz -B
Jsw _C
Ju -D
JiF -E

-2 5; i37918 P Tas e
(A), (B), (C), (E) -1
(B). (C), (D), (E) -2
(A), (B), (D), (E) -3
(A), (C), (D), (E) -4
Options :
22742775113. 1
22742775114, 2

22742775115. 3

22742775116. 4

Question Number : 105 Question Id : 22742719280 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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oti LSl A
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Y 4 PUE -E
.,,uzé; 157007 5 T2 2 2
(B), (C), (D), (E) -1
(A), (B), (C), (D) -2
(A), (C), (D), (E) -3
(A), (B), (C), (E) -4
Options :
22742775117.1
22742775118. 2

22742775119. 3

22742775120. 4

Question Number : 105 Question Id : 22742719280 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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.,,uzé; 157007 5 T2 2 2
(B), (C), (D), (E) -1
(A), (B), (C), (D) -2
(A), (C), (D), (E) -3
(A), (B), (C), (E) -4
Options :
22742775117.1
22742775118. 2

22742775119. 3

22742775120. 4

Question Number : 106 Question Id : 22742719281 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Uadars -E
.,,Lf:é; (377 Ten 2 et
(A), (B), (D), (E) -1
(A), (B), (C), (D) -2
(B), (C), (D), (E) -3
(A), (C), (D), (E) -4
Options :
22742775121. 1
22742775122. 2

22742775123. 3

22742775124. 4

Question Number : 106 Question Id : 22742719281 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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S48 -C
$xgs? D

Uadars -E
.,,Lf:é; (377 Ten 2 et
(A), (B), (D), (E) -1
(A), (B), (C), (D) -2
(B). (C), (D), (E) -3
(A), (C), (D), (E) -4
Options :
22742775121. 1
22742775122. 2

22742775123. 3

22742775124. 4

Question Number : 107 Question Id : 22742719282 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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e A
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SHszsisse -C
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(B), (C), (D), (E) -1
(A), (B), (C), (D) -2
(A), (B), (D), (E) -3
(A), (B), (C), (E) -4
Options :
22742775125. 1
22742775126. 2
22742775127. 3

22742775128. 4

Question Number : 107 Question Id : 22742719282 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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e A
&> B

SHszsisse -C
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JE&ie st -E
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(B), (C), (D), (E) -1
(A), (B), (C), (D) -2
(A), (B), (D), (E) -3
(A), (B), (C), (E) -4
Options :
22742775125. 1
22742775126. 2
22742775127. 3

22742775128. 4

Question Number : 108 Question Id : 22742719283 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Sz _B

S -C

j{sf’ _D
4 E

-2 s U T 2 ek
(A). (B), (C), (D) -1
(A). (C), (D), (E) -2
(A). (B), (D). (E) -3
(B). (C). (D). (E) -4
Options::
22742775129. 1
22742775130. 2

22742775131. 3

22742775132. 4

Question Number : 108 Question Id : 22742719283 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Sz _B

S -C
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4 E

-2 s U T 2 ek
(A). (B), (C), (D) -1
(A). (C), (D), (E) -2
(A). (B), (D). (E) -3
(B). (C). (D). (E) -4
Options::
22742775129. 1
22742775130. 2

22742775131. 3

22742775132. 4

Question Number : 109 Question Id : 22742719284 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Seluls B
wk@g S
S =D

ST H0= G -E
% 5; 157807 % s 2 2
(A), (B), (C), (D) -1
(B), (C), (D), (E) -2
(A), (C), (D), (E) -3
(A), (B), (D), (E) -4
Options :
22742775133, 1
22742775134. 2

22742775135. 3
22742775136. 4

Question Number : 109 Question Id : 22742719284 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Seluls B
wk@g S
S =D
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(A), (B), (C), (D) -1
(B), (C), (D), (E) -2
(A), (C), (D), (E) -3
(A), (B), (D), (E) -4
Options :
22742775133, 1
22742775134. 2

22742775135. 3
22742775136. 4

Question Number : 110 Question Id : 22742719285 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



LE P i P WIS G
5g,£iE*UJ|JJJ A

){u: -B

N2 T 1T 7NR T es S e
(A), (B), (C), (D) -1
(A), (C). (D), (E) -2
(B), (C). (D), (E) -3
(A). (B), (D), (E) -4
Options :
22742775137.1
22742775138. 2

22742775139. 3

22742775140. 4

Question Number : 110 Question Id : 22742719285 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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N2 T 1T 7NR T es S e
(A), (B), (C), (D) -1
(A), (C). (D), (E) -2
(B), (C). (D), (E) -3
(A). (B), (D), (E) -4
Options :
22742775137.1
22742775138. 2

22742775139. 3

22742775140. 4

Question Number : 111 Question Id : 22742719286 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(A), (B), (D), (E) -1
(B), (C), (D), (E) -2
(A), (B), (C), (E) -3
(A), (B), (C), (D) -4
Options :
22742775141. 1
22742775142. 2

22742775143. 3

22742775144. 4

Question Number : 111 Question Id : 22742719286 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(A), (B), (D), (E) -1
(B), (C), (D), (E) -2
(A), (B), (C), (E) -3
(A), (B), (C), (D) -4
Options :
22742775141. 1
22742775142. 2

22742775143. 3

22742775144. 4

Question Number : 112 Question Id : 22742719287 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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WTEZy B
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R sl as
(A), (B), (D), (E) -1
(A). (B), (C), (D) -2
(A), (B), (C), (E) -3
(B), (C). (D). (E) -4
Options :
22742775145. 1
22742775146. 2

22742775147. 3

22742775148. 4

Question Number : 112 Question Id : 22742719287 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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ke S A A
WTEZy B
Po St ie _C
S ST BT D
W&y -E
R sl as
(A), (B), (D), (E) -1
(A). (B), (C), (D) -2
(A), (B), (C), (E) -3
(B), (C). (D). (E) -4
Options :
22742775145. 1
22742775146. 2

22742775147. 3

22742775148. 4

Question Number : 113 Question Id : 22742719288 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(A), (B), (C), (D) -1

(A). (C), (D), (E) -2

(B). (C), (D), (E) -3

(A). (B), (D), (E) -4

Options :

22742775149. 1
22742775150. 2

22742775151.3

22742775152. 4

Question Number : 113 Question Id : 22742719288 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A), (B), (C), (D) -1

(A). (C), (D), (E) -2

(B). (C), (D), (E) -3

(A). (B), (D), (E) -4

Options :

22742775149. 1
22742775150. 2

22742775151.3

22742775152. 4

Question Number : 114 Question Id : 22742719289 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A), (B), (C), (D) -1
(B), (C). (D). (E) -2
(A). (B), (D), (E) -3
(A). (B), (C), (E) -4

Options :

22742775153. 1

22742775154. 2

22742775155. 3

22742775156. 4

Question Number : 114 Question Id : 22742719289 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(A), (B), (C), (D) -1
(B), (C). (D). (E) -2
(A). (B), (D), (E) -3
(A). (B), (C), (E) -4

Options :

22742775153. 1

22742775154. 2

22742775155. 3

22742775156. 4

Question Number : 115 Question Id : 22742719290 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(A), (C), (D), (E) -1
(A), (B), (C), (D) -2
(A), (B), (D), (E) -3
(A), (B), (C), (E) -4

Options :

22742775157. 1

22742775158. 2

22742775159. 3

22742775160. 4

Question Number : 115 Question Id : 22742719290 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(A), (C), (D), (E) -1
(A), (B), (C), (D) -2
(A), (B), (D), (E) -3
(A), (B), (C), (E) -4

Options :

22742775157. 1

22742775158. 2

22742775159. 3

22742775160. 4

Question Number : 116 Question Id : 22742719291 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Jiz 1l PO ¢ SR S
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-2 5:; (3707 ¥ e 2 2t

A-lILkB-IV,C-1,D-11 -1
A-ILB-IIl,C-IV,D-1 .2
A-1,B-1I,C-llLD-IV .3
A-IV,B-1,C-1I,D-1ll _4

Options :

22742775161. 1

22742775162. 2

22742775163. 3

22742775164. 4

Question Number : 116 Question Id : 22742719291 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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List I List |
ﬁu,@’ I & VERe T A
JUs AL B
Jiz 1l PO ¢ SR S
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A-lILkB-IV,C-1,D-11 -1
A-ILB-IIl,C-IV,D-1 .2
A-1,B-1I,C-llLD-IV .3
A-IV,B-1,C-1I,D-1ll _4

Options :

22742775161. 1

22742775162. 2

22742775163. 3

22742775164. 4

Question Number : 117 Question Id : 22742719292 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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List Il List |
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s e E g B
,b; 1l _l Zufumg“vf}ﬁ%gﬁv >

IV ki zfW53 D

.,,Le;é; Gz Tes oS s
A-1,B-Il,C-,IV,D-1ll -1
A-ILB-1,C-llILD-IV .2
A-lLB-IV,C-1,D-11 _3
A-IV,B-IIlLC-1I,D-1 _4

Options :
22742775165. 1
22742775166. 2

22742775167. 3

22742775168. 4

Question Number : 117 Question Id : 22742719292 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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List Il List |
N I A

s e E g B
,b; 1l _l Zufumg“vf}ﬁ%gﬁv >

IV ki zfW53 D

.,,Le;é; Gz Tes oS s
A-1,B-Il,C-,IV,D-1ll -1
A-ILB-1,C-llILD-IV .2
A-lLB-IV,C-1,D-11 _3
A-IV,B-IIlLC-1I,D-1 _4

Options :
22742775165. 1
22742775166. 2

22742775167. 3

22742775168. 4

Question Number : 118 Question Id : 22742719293 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Tty S -B
=Gl L iz LG
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A-IV,B-IlIlLC-1I,D-1 -1
A-ILB-1,C-lILD-1IV -2
A-I,B-IV,C-1,D-1I -3
A-1,B-1I,C-IV,D-Ill -4

Options :

22742775169. 1

22742775170. 2

22742775171.3

22742775172. 4

Question Number : 118 Question Id : 22742719293 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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List Il List |
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A-IV,B-IlIlLC-1I,D-1 -1
A-ILB-1,C-lILD-1IV -2
A-I,B-IV,C-1,D-1I -3
A-1,B-1I,C-IV,D-Ill -4

Options :

22742775169. 1

22742775170. 2

22742775171.3

22742775172. 4

Question Number : 119 Question Id : 22742719294 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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A-1,B-1I,C-1V,D- Il -1
A-lI,B-IV,C-1I,D-1 -2
A-1,B-NIl,C-1,D-IV .3
A-IV,B-1,C-lI,D-Il -4

Options :

22742775173. 1
22742775174. 2
22742775175. 3

22742775176. 4

Question Number : 119 Question Id : 22742719294 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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A-1,B-1I,C-1V,D- Il -1
A-lI,B-IV,C-1I,D-1 -2
A-1,B-NIl,C-1,D-IV .3
A-IV,B-1,C-lI,D-Il -4

Options :

22742775173. 1
22742775174. 2
22742775175. 3

22742775176. 4

Question Number : 120 Question Id : 22742719295 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



:jfuuujﬁigﬂjfLil

List I List |
et LI aUJs -A
4 I sebi B B
At - L =C
£6s -IV R

WECT sl as

A-ILB-IIlLC-IV,D-1l -1
A-IV,B-Il,C-lILD-1 .2
A-ILB-IV,C-1,D-1lI -3
A-lIIILB-1,C-Il,D-IV -4

Options :

22742775177.1

22742775178. 2

22742775179. 3

22742775180. 4

Question Number : 120 Question Id : 22742719295 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



:jfuuujﬁigﬂjfLil

List I List |
et LI aUJs -A
4 I sebi B B
At - L =C
£6s -IV R

WECT sl as

A-ILB-IIlLC-IV,D-1l -1
A-IV,B-Il,C-lILD-1 .2
A-ILB-IV,C-1,D-1lI -3
A-lIIILB-1,C-Il,D-IV -4

Options :

22742775177.1

22742775178. 2

22742775179. 3

22742775180. 4

Question Number : 121 Question Id : 22742719296 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



/60198 ST/ s Tl o 6357t Ll ™

List Il List |
A2 FATTIE I\
LEATRE/S . Jdussie _B
§2ule - Supdz -C
Jﬁjr"'}d} 1) /@U{;Jb’..__{»f_. +H

2 Ea 1 T 1 e

A-1,B-1l,C-lILD-IV -1
A-IV,B-1llIl,C-1,D-1I -2
A-ILB-IV,C-Il,D-1 -3
A-ILB-1,C-IV,D-1ll -4

Options :

22742775181. 1

22742775182. 2

22742775183. 3

22742775184. 4

Question Number : 121 Question Id : 22742719296 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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List Il List |
A2 FATTIE I\
LEATRE/S . Jdussie _B
§2ule - Supdz -C
Jﬁjr"'}d} 1) /@U{;Jb’..__{»f_. +H

2 Ea 1 T 1 e

A-1,B-1l,C-lILD-IV -1
A-IV,B-1llIl,C-1,D-1I -2
A-ILB-IV,C-Il,D-1 -3
A-ILB-1,C-IV,D-1ll -4

Options :

22742775181. 1

22742775182. 2

22742775183. 3

22742775184. 4

Question Number : 122 Question Id : 22742719297 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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List Il List |
bl e R E I TE AT 5 L A
dz -l tf';jﬁw?/uﬂid&fivf B
£t il sl s _C

S IV NN I Yiz D

iz 5; 15707 s 2 2t

A-LB-Il,C-lILD-IV -1
A-IV,B-I,C-1l,D-1I -2
A-ILB-IlIlLC-IV,D-1 _3
A-lILB-IV,C-1,D-11 _4

Options :

22742775185. 1

22742775186. 2

22742775187.3
22742775188. 4

Question Number : 122 Question Id : 22742719297 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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List Il List |
bl e R E I TE AT 5 L A
dz -l tf';jﬁw?/uﬂid&fivf B
£t il sl s _C

S IV NN I Yiz D

iz 5; 15707 s 2 2t

A-LB-Il,C-lILD-IV -1
A-IV,B-I,C-1l,D-1I -2
A-ILB-IlIlLC-IV,D-1 _3
A-lILB-IV,C-1,D-11 _4

Options :

22742775185. 1

22742775186. 2

22742775187.3
22742775188. 4

Question Number : 123 Question Id : 22742719298 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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List II List |

Shs -l A'—G/ -A

Se i ik _B

S YR ] el _C
LL=E IV uf: -D

7 5; 157007 5 Tag 2 2t

A-LB-Il,C-lILD-IV -1
A-IV.B-IIlLC-1,D-1I -2
A-IlLB-1,C-IV,D-1ll -3
A-lLB-IV,C-IILD-1 _4

Options :

22742775189. 1

22742775190. 2

22742775191. 3

22742775192. 4

Question Number : 123 Question Id : 22742719298 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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List II List |

Shs -l A'—G/ -A

Se i ik _B

S YR ] el _C
LL=E IV uf: -D

7 5; 157007 5 Tag 2 2t

A-LB-Il,C-lILD-IV -1
A-IV.B-IIlLC-1,D-1I -2
A-IlLB-1,C-IV,D-1ll -3
A-lLB-IV,C-IILD-1 _4

Options :

22742775189. 1

22742775190. 2

22742775191. 3

22742775192. 4

Question Number : 124 Question Id : 22742719299 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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List II List |
7 -l Pl A
&5 -l ff;,,rf%{fﬁt; B
=i |l NS5 ST ke il -G

SR VARSI S TIPS S
7 5; 157007 5 g 2 2t
AN B-ILC-ILD-1 _1
A-1.B-1l,C-llLD-IV -2
A-Nl,B-IV,C-1,D-1Il .3
A-II,B-1,C-IV,D-1ll -4
Options :
22742775193. 1
22742775194, 2

22742775195. 3
22742775196. 4

Question Number : 124 Question Id : 22742719299 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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List II List |
7 -l Pl A
&5 -l ff;,,rf%{fﬁt; B
=i |l NS5 ST ke il -G

SR VARSI S TIPS S
7 5; 157007 5 g 2 2t
AN B-ILC-ILD-1 _1
A-1.B-1l,C-llLD-IV -2
A-Nl,B-IV,C-1,D-1Il .3
A-II,B-1,C-IV,D-1ll -4
Options :
22742775193. 1
22742775194, 2

22742775195. 3
22742775196. 4

Question Number : 125 Question Id : 22742719300 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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List I List |
send¥ - -A
IS | ki -B
oLidise W5 0
NIELEE IV JiestS D

Az G 13417 APy

A-1,B-1I,C-lILD-IV -1
A-NII,B-IV,C-1,D-1l -2
A-IV,B-IlIlLC-I1l,D-1 -3
A-II,B-1,C-Iv,D-1ll _4

Options :

22742775197. 1

22742775198. 2

22742775199. 3

22742775200. 4

Question Number : 125 Question Id : 22742719300 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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List I List |
send¥ - -A
IS | ki -B
oLidise W5 0
NIELEE IV JiestS D

Az G 13417 APy

A-1,B-1I,C-lILD-IV -1
A-NII,B-IV,C-1,D-1l -2
A-IV,B-IlIlLC-I1l,D-1 -3
A-II,B-1,C-Iv,D-1ll _4

Options :

22742775197. 1

22742775198. 2

22742775199. 3

22742775200. 4

Question Number : 126 Question Id : 22742719301 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



AR R IR IVE SVt I TV

AU A
¥ _B
o -C

& _D

Jag _E

ARG IR s St
(A), (B), (C), (E), (D) -1
(E), (D), (B), (C), (A) -2
(B), (C), (D), (A), (E) -3
(C), (D), (E), (A), (B) -4
Options :
22742775201. 1
22742775202. 2

22742775203. 3
22742775204. 4

Question Number : 126 Question Id : 22742719301 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



AR R IR IVE SVt I TV

AU A
¥ _B
o -C

& _D

Jag _E

ARG IR s St
(A), (B), (C), (E), (D) -1
(E), (D), (B), (C), (A) -2
(B), (C), (D), (A), (E) -3
(C), (D), (E), (A), (B) -4
Options :
22742775201. 1
22742775202. 2

22742775203. 3
22742775204. 4

Question Number : 127 Question Id : 22742719302 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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-éfmrﬁﬁiujﬁfurtﬁf&kfl'—'(ij -A
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A kb SE e i
Sedis ¥ b
Jedpy E
.,,Leé; (3707 5 29 2 2
(A), (B), (C), (D), (E) -1
(E), (D), (C), (B), (A) -2
(B), (C), (E), (D), (A) -3
(E), (D), (A), (B), (C) -4
Options :
22742775205. 1
22742775206. 2
22742775207. 3

22742775208. 4

Question Number : 127 Question Id : 22742719302 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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-éfmrﬁﬁiujﬁfurtﬁf&kfl'—'(ij -A
2 -r‘zﬁ-’fu'ﬁu’f;” £ B
A kb SE e i
Sedis ¥ b
Jedpy E
.,,Leé; (3707 5 29 2 2
(A), (B), (C), (D), (E) -1
(E), (D), (C), (B), (A) -2
(B), (C), (E), (D), (A) -3
(E), (D), (A), (B), (C) -4
Options :
22742775205. 1
22742775206. 2
22742775207. 3

22742775208. 4

Question Number : 128 Question Id : 22742719303 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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JiE -C
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Gt Pl 2l e
(A). (B), (C). (D). (E) -1
(D). (A). (E), (B). (C) -2
(B), (D). (C). (E). (A) -3
(E). (B), (D), (A). (C) -4
Options:
22742775209. 1
22742775210. 2

22742775211.3

22742775212. 4

Question Number : 128 Question Id : 22742719303 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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oy A
£ B
JiE -C
pOS T »
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Gt Pl 2l e
(A). (B), (C). (D). (E) -1
(D). (A). (E), (B). (C) -2
(B), (D). (C). (E). (A) -3
(E). (B), (D), (A). (C) -4
Options:
22742775209. 1
22742775210. 2

22742775211.3

22742775212. 4

Question Number : 129 Question Id : 22742719304 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Sisbbe iz -C
7P R\ i D
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2 Ea 1 T 1 e
(C), (A), (B), (E), (D) -1
(A), (B), (C), (D), (E) -2
(E), (D), (B), (C), (A) -3
(D), (B), (C), (E), (A) -4
Options :
22742775213. 1
22742775214. 2

22742775215. 3

22742775216. 4

Question Number : 129 Question Id : 22742719304 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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3BAUA Koz T B
Sisbbe iz -C
7P R\ i D
ﬁffﬁu‘}::@}? o
2 Ea 1 T 1 e
(C), (A), (B), (E), (D) -1
(A), (B), (C), (D), (E) -2
(E), (D), (B), (C), (A) -3
(D), (B), (C), (E), (A) -4
Options :
22742775213. 1
22742775214. 2

22742775215. 3

22742775216. 4

Question Number : 130 Question Id : 22742719305 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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CExz A
sz B
EU ¥ 5
T
o
a E

,,,uzé; i3 P20 s
(A), (B), (C), (D), (E) -1
(B), (C), (D), (E), (A) -2
(E). (D), (A), (B), (C) -3
(C), (D), (B), (E), (A) -4

Options :

22742775217. 1
22742775218. 2
22742775219. 3

22742775220. 4

Question Number : 130 Question Id : 22742719305 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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CExz A
sz B
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T
o
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,,,uzé; i3 P20 s
(A), (B), (C), (D), (E) -1
(B), (C), (D), (E), (A) -2
(E). (D), (A), (B), (C) -3
(C), (D), (B), (E), (A) -4

Options :

22742775217. 1
22742775218. 2
22742775219. 3

22742775220. 4

Question Number : 131 Question Id : 22742719306 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



M igs Il E e ot b1
AP A
AT E i o e B
VNN e
BN sneshr 5 D
55 5 sb Sk E
N2 T 1T PNR P Tes S e
(A), (B), (C), (D), (E) -1
(D), (E), (A), (B), (C) -2
(B), (C). (E), (A), (D) -3
(E), (D), (C). (B), (A) -4
Options :
22742775221. 1
22742775222, 2

22742775223. 3

22742775224. 4

Question Number : 131 Question Id : 22742719306 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



M igs Il E e ot b1
AP A
AT E i o e B
VNN e
BN sneshr 5 D
55 5 sb Sk E
N2 T 1T PNR P Tes S e
(A), (B), (C), (D), (E) -1
(D), (E), (A), (B), (C) -2
(B), (C). (E), (A), (D) -3
(E), (D), (C). (B), (A) -4
Options :
22742775221. 1
22742775222, 2

22742775223. 3

22742775224. 4

Question Number : 132 Question Id : 22742719307 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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P sl SRS murd 42 <A
Pk 1555
I P P SRS -C
g WL’E/J -D
u”s{/';?f‘-r*fwﬁ i =
ARG 5 T 2 e
(D), (B), (C), (A), (E) -1
(B), (C), (A), (E), (D) -2
(D, (A), (E), (C), (B) -3
(A), (B), (C), (D), (E) -4
Options :
22742775225. 1
22742775226. 2

22742775227. 3

22742775228. 4

Question Number : 132 Question Id : 22742719307 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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P sl SRS murd 42 <A
Pk 1555
I P P SRS -C
g WL’E/J -D
u”s{/';?f‘-r*fwﬁ i =
ARG 5 T 2 e
(D), (B), (C), (A), (E) -1
(B), (C), (A), (E), (D) -2
(D, (A), (E), (C), (B) -3
(A), (B), (C), (D), (E) -4
Options :
22742775225. 1
22742775226. 2

22742775227. 3

22742775228. 4

Question Number : 133 Question Id : 22742719308 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(D), (E). (A), (B), (C) -1
(A), (B), (C), (D), (E) -2
(B), (C). (D), (E), (A) -3
(C), (D), (B), (A), (E) -4
Options :
22742775229. 1
22742775230. 2

22742775231.3

22742775232. 4

Question Number : 133 Question Id : 22742719308 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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gz -B
St C
o D

N2E 1572 P T2s S e
(D), (E). (A), (B), (C) -1
(A), (B), (C), (D), (E) -2
(B), (C). (D), (E), (A) -3
(C), (D), (B), (A), (E) -4
Options :
22742775229. 1
22742775230. 2

22742775231.3

22742775232. 4

Question Number : 134 Question Id : 22742719309 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A), (B), (C), (D), (E) -1
B), (C). (D). (E), (A) -2
(C). (D). (A), (E), (B) -3
(D). (B). (C). (E), (A) -4
Options :
22742775233. 1
22742775234, 2

22742775235. 3

22742775236. 4

Question Number : 134 Question Id : 22742719309 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(A), (B), (C), (D), (E) -1
B), (C). (D). (E), (A) -2
(C). (D). (A), (E), (B) -3
(D). (B). (C). (E), (A) -4
Options :
22742775233. 1
22742775234, 2

22742775235. 3

22742775236. 4

Question Number : 135 Question Id : 22742719310 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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calfh
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(D). (E). (C). (B). (A) -1
(A). (B), (C), (D), (E) -2
(E). (D). (B), (C), (A) -3
(B), (C), (D), (E). (A) -4

Options :

22742775237. 1
22742775238. 2
22742775239. 3

22742775240. 4

Question Number : 135 Question Id : 22742719310 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(D). (E). (C). (B). (A) -1
(A). (B), (C), (D), (E) -2
(E). (D). (B), (C), (A) -3
(B), (C), (D), (E). (A) -4

Options :

22742775237. 1
22742775238. 2
22742775239. 3

22742775240. 4

Question Number : 136 Question Id : 22742719311 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One is labelled as Assertion A and the other is
labelled as Reason R
Assertion A: _L-,u/gbéwj b /_f fy'&’:dst “ gl
Reason R: AL uydwti,ﬁf
IN the light of the above statements, choose the most appropriate answer from

the options given below
1. Both A and R are correct and R is the correct explanation of A.
2. Both A and R are correct but R is not the correct explanation of A.
3. Ais correct but R is not correct.

4. Ais not correct but R is correct.

Options :

22742775241. 1
22742775242, 2
22742775243, 3

22742775244. 4

Question Number : 136 Question Id : 22742719311 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One is labelled as Assertion A and the other is
labelled as Reason R
Assertion A: _L-,u/gbéwj b /_f fy'&’:dst “ gl
Reason R: AL uydwti,ﬁf
IN the light of the above statements, choose the most appropriate answer from

the options given below
1. Both A and R are correct and R is the correct explanation of A.
2. Both A and R are correct but R is not the correct explanation of A.
3. Ais correct but R is not correct.

4. Ais not correct but R is correct.

Options :

22742775241. 1
22742775242, 2
22742775243, 3

22742775244. 4

Question Number : 137 Question Id : 22742719312 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One is labelled as Assertion A and the other is

labelled as Reason R

Assertion A: 28 Ak (Pseudo)=slas Tt | o
Reason R: iy ',,E}"._L?r'm;;»f.-i;u‘ it ™ u’i’: g.,?:f.u %

IN the light of the above statements, choose the most correct answer from the
options given below
1. Both A and R are true and R is the correct explanation of A.
2. Both A and R are true but R is not the correct explanation of A.
3. Alis true but R is not false.
4. Ais false but R is true.
Options :
22742775245. 1
22742775246. 2

22742775247. 3

22742775248. 4

Question Number : 137 Question Id : 22742719312 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One is labelled as Assertion A and the other is

labelled as Reason R

Assertion A: 28 Ak (Pseudo)=slas Tt | o
Reason R: iy ',,E}"._L?r'm;;»f.-i;u‘ it ™ u’i’: g.,?:f.u %

IN the light of the above statements, choose the most correct answer from the
options given below
1. Both A and R are true and R is the correct explanation of A.
2. Both A and R are true but R is not the correct explanation of A.
3. Alis true but R is not false.
4. Ais false but R is true.
Options :
22742775245. 1
22742775246. 2

22742775247. 3

22742775248. 4

Question Number : 138 Question Id : 22742719313 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement I: (S O AT [ TN
Statement Il 2R j’&é?{t’nﬁ

In the light of above statements, choose the most appropriate answer from
the options given below

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.

3. Statement | is correct but Statement Il is incorrect.

:h.

Statement | is incorrect but Statement Il is correct.

Options :

22742775249. 1
22742775250. 2
22742775251. 3

22742775252. 4

Question Number : 138 Question Id : 22742719313 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement I: (S O AT [ TN
Statement Il 2R j’&é?{t’nﬁ

In the light of above statements, choose the most appropriate answer from
the options given below

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.

3. Statement | is correct but Statement Il is incorrect.

:h.

Statement | is incorrect but Statement Il is correct.

Options :

22742775249. 1
22742775250. 2
22742775251. 3

22742775252. 4

Question Number : 139 Question Id : 22742719314 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:
Statement I: s ‘f o A-«*/u Sl )"L
Statement || ¥, wuﬁ-/_.:;iféd}u" Ul A

In the light of above statements, choose the correct answer from the options

given below

——
5

Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4

Statement | is false but Statement Il is true.
Options :
22742775253. 1
22742775254, 2
22742775255. 3

22742775256. 4

Question Number : 139 Question Id : 22742719314 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:
Statement I: s ‘f o A-«*/u Sl )"L
Statement || ¥, wuﬁ-/_.:;iféd}u" Ul A

In the light of above statements, choose the correct answer from the options

given below

——
5

Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4

Statement | is false but Statement Il is true.
Options :
22742775253. 1
22742775254, 2
22742775255. 3

22742775256. 4

Question Number : 140 Question Id : 22742719315 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:
Statement |: KB Pk 1%
Statement I i KAy s

In the light of above statements, choose the correct answer from the options
given below
1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement 1l are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.
Options :
22742775257. 1
22742775258. 2

22742775259. 3

22742775260. 4

Question Number : 140 Question Id : 22742719315 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:
Statement |: KB Pk d);,f i

Statement I i KAy s

In the light of above statements, choose the correct answer from the options
given below
1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement 1l are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.
Options :
22742775257. 1
22742775258. 2

22742775259. 3

22742775260. 4

Sub-Section Number : 2
Sub-Section Id : 227427755
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 22742719316 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 22742719317 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

9 f}"‘_..lféﬁ? Eiabff?@"'j
L) ﬁdﬁmﬁ;,... .
4 'dei)j{_,ﬁhf,: £,

~h DBy E By -3
YN i By -4

Options:

22742775261. 1
22742775262. 2
22742775263. 3

22742775264. 4

Question Number : 142 Question Id : 22742719318 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



:J;F}‘._.,h?é“?éiag@h?l
bR, -
;E?Ixéuﬁ’_af?ﬁ? 50
SEF Bkl iF, . -3
--u;u:uﬁféz,;, -4

Options :

22742775265. 1
22742775266. 2
22742775267. 3

22742775268. 4

Question Number : 143 Question Id : 22742719319 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

End

:JJij|ﬁ£U|)F’E/F PN

BN Ny T

e gH PR 2 B S A 2

G"JELJﬁ'uJ.L:‘Mu';;EE? 23

SBEISerPE -4

Options:

22742775269. 1
22742775270. 2

22742775271. 3

22742775272. 4

Question Number : 144 Question Id : 22742719320 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

wlic2l SHRFFSE
ﬁdig_f.’:""{lj;' .4
FRAG A 2
Smid=iP sy -3
ﬁbrffjﬁf;ﬁdjﬁé »w -4

Options :

22742775273. 1
22742775274. 2
22742775275. 3
22742775276. 4

Question Number : 145 Question Id : 22742719321 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

2y iﬁf!fétdl,&,ﬂ?gq;u;f
Ak lez,#
oly Fa g8 2
c)'gpbﬁéid_l,-wuﬁfﬁ U ;u'}.!””" o

O I ZJ5 4

Options:
22742775277. 1
22742775278. 2

22742775279. 3



22742775280. 4

Question Id : 22742719316 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (141 to 145)

Question Label : Comprehension
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--Iu;j?LﬁI{::

Sub questions

Question Number : 141 Question Id : 22742719317 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

iz E BN E
L) ﬁdﬁrﬁ,, ¥
o 'JJ:JL&MJEJAI;;?,: .
b SBIsZ Ar -3
_C)!ﬂ/d?f%ﬁuz_ﬁﬁ,? -4
Options :

22742775261.1

22742775262. 2



22742775263. 3

22742775264. 4

Question Number : 142 Question Id : 22742719318 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

:J;F}‘._.,h?é‘?éiag@h?l
bR, -
;E?Ixéuﬁ’_af?ﬁ? 50
SEF Bkl iF, . -3

(s
- 'Il_!l.ff'.ﬂ'ﬁ_ﬂ.?'.:' --4

Options :

22742775265. 1
22742775266. 2
22742775267. 3

22742775268. 4

Question Number : 143 Question Id : 22742719319 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

End

:JJij|ﬁ£U|)F’E/F PN
BN Ny T

e gH PR 2 B S A 2
u'IJEL_hf-;lu,r_L,wu,l s .

SWUHA bl SR, . 4

Options :



22742775269. 1
22742775270. 2
22742775271.3

22742775272. 4

Question Number : 144 Question Id : 22742719320 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

:JJT:}_'.;I_ﬁé‘ Pﬁiffu‘g
5825
S5 e 2
Sl =3P 5\ sy 3

55U s ugﬁg’u"?ﬂswr”& » -4

Options :

22742775273. 1
22742775274. 2
22742775275. 3

22742775276. 4

Question Number : 145 Question Id : 22742719321 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



9 n’:?.,,vﬁé:_-,n xRz ;Lf
P97V
Wy FHasz .92 22
C)'#"FJLHE:’:ECJ_L:’JJU?; Ll,r_:.ug.!”& s |

ujhgadﬁ:EiLin?;t’-4

Options :

22742775277. 1
22742775278. 2
22742775279. 3

22742775280. 4

Sub-Section Number : 3
Sub-Section Id : 227427756
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 22742719322 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 22742719323 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
NPT é*iay’g:‘ﬁg

Y fesr

L;DlﬁéufE;hjﬁi' <

uJ,.P.}? -3

ol 4

Options :

22742775281. 1
22742775282. 2

22742775283. 3

22742775284. 4

Question Number : 147 Question Id : 22742719324 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



gy, ff.,:lﬂ é‘iu"gﬁ:&gu r‘:m';', fuu{r‘tfulf
L;U?J" JJ!"; /’j QPQ{:J".? =y
G 8t sy 2
= i
L}Jﬂr‘l"ﬁﬁu sl 23
SRS i 4
Options:

22742775285. 1
22742775286. 2

22742775287. 3

22742775288. 4

Question Number : 148 Question Id : 22742719325 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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310 UVT&Q;‘
,»:.“'E‘;-;l? Bhy
;UUE_&;U@-;@/, o
Lﬁ’ﬁdlﬁgﬁ;l; B |

JPAHIG 4

Options:

22742775289. 1
22742775290. 2
22742775291. 3

22742775292. 4

Question Number : 149 Question Id : 22742719326 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

257 é;(?j )7 u’“;:‘éia‘.«:'ju ‘. —?wﬁ”

:;Jﬁbfégﬂ -1
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d:qJ‘Lftxﬁﬂpgfﬂ _3
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Options :

22742775293. 1
22742775294, 2

22742775295. 3

22742775296. 4

Question Number : 150 Question Id : 22742719327 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

:uf.ﬁ-.,,mf 551 L LS

2% 2
e 3
,:F:";:-*';‘ .|

Options:

22742775297. 1
22742775298. 2
22742775299. 3

22742775300. 4



Question Id : 22742719322 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 22742719323 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
a5 é‘i‘agﬁflé
dﬁ:f‘ -1
L}ﬂlﬁéufE;hjﬁj' 2
s -3
il 4
Options:
22742775281. 1

22742775282. 2

22742775283. 3



22742775284. 4

Question Number : 147 Question Id : 22742719324 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

;;I.e_,lfi ”J.-".:zﬁ"L gur’i)hd{f,ful,f

Gzr s -1

Gz 8t fr P 2

Li’ﬁ (% AT 23

u.x:‘_"«i;}_iﬁ -4

Options :

22742775285. 1
22742775286. 2

22742775287. 3

22742775288. 4

Question Number : 148 Question Id : 22742719325 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ZJJTJ.',_...I_;EL{ 3CJVTEE,¢;‘
fé‘f’? Brg
;uui,&;u@iﬂ .
pg’iécflﬁu{.ﬂj 3
gPAHSe -4
Options :

22742775289. 1



22742775290. 2
22742775291. 3

22742775292. 4

Question Number : 149 Question Id : 22742719326 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

AL f; €22 ;:-"V'“s‘éiagu_; * :;ij,,J
) @g- 251l
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Options :
22742775293. 1
22742775294. 2

22742775295. 3
22742775296. 4

Question Number : 150 Question Id : 22742719327 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742775297. 1
22742775298. 2
22742775299. 3

22742775300. 4



